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Question Number : 1 Question Id : 9277591351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter series :
DG, ,LO,PS.

Options :
1. ¥ HL
2. ¥ HK
3. % GK
4. % GL

Question Number : 1 Question Id : 9277591351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad sfer e d T U I1d o

DG, ,LO,PS.
Options :
1. ¥ HL
2. ¥ HK
3. % GK
4. % GL

Question Number : 2 Question Id : 9277591352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Walls

2. % Roof

3. % Cupboard
4. * Floor

Question Number : 2 Question Id : 9277591352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TC fawed & 9 dF T (Y Rid & 90 § | 810D, Th [Aded 31 01 &1 dve ol ¢ | 34 [dded &1 I8 B Sl 37 4 3T 5|
Options :

1. % R

2. % ¥d

3. ¢ {HR]

4. % Rl

Question Number : 3 Question Id : 9277591353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following series :
J5G, N2K, R-1P, V-4S, Z-7TW

Options :

1. % Z-7TW
2. % V4S8
3. ¥ R-1P
4. % N2K

Question Number : 3 Question Id : 9277591353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad saan & Tad ue 71d a3

J5G, N2K, R-1P, V-4S, Z-7TW
Options :

1. % Z-TW

2. % VA4S

3. ¥ R-1P

4, % N2K

Question Number : 4 Question Id : 9277591354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
CADE, HEII, MINM, , WQXU

Options :

1. % RNSQ
2. % QMSQ
3. ¥ QNRP
4. ¥ RMSQ

Question Number : 4 Question Id : 9277591354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiRad e & Jud ue Jrd e

CADE, HEIl, MINM,  ,WQXU
Options :

1. % RNSQ

2. % QMSQ

3. ¥ QNRP

4. ¥ RMSQ

Question Number : 5 Question Id : 9277591355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
BHJ : LRT :: GAP :?

Options :
1. ¥ QKZ
2. % QLZ
3. % QLY
4. ¥ QKY

Question Number : 5 Question Id : 9277591355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafid g fo UR ¥ gOR1 UG Ugd Ug ¥ afed g
BHJ : LRT :: GAP : ?

Options :
1. ¥ QKZ
2. % QLZ
3. % QLY
4, % QKY




Question Number : 6 Question Id : 9277591356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Cricket : 11 : : Rugby : ?

Options :

1. % 12

2.% 13

3. % 14

4.9 15

Question Number : 6 Question Id : 9277591356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed T T B S iR UG ¥ 341 UHR ¥ Yafdd g fo TR ¥ 3R UG Ugd Ug ¥ Hafed g
fhoe: 1172

Options :

1. #® 12

2. % 13

3.% 14

4.9 15

Question Number : 7 Question Id : 9277591357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ® YUP
2. % TPK
3. % QMH
4. ¥ GDZ



Question Number : 7 Question Id : 9277591357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu u fiweal A @ & e Rfya %  TuE 81 gTlTP, T faeed 3 diF o1 aRE Tl ¢ | 39 fahed &1 I &Y oY 30 ¥ 3T B
Options :

1. ®# YUP

2. # TPK

3. % QMH

4. ¥ GDZ

Question Number : 8 Question Id : 9277591358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, 785291 is coded as PBLQMS and 48036 is coded as ZBOAH then what is the code for 902653?
Options :

1. ¥ MQOHLA

2. ¥ MOQLHA

3. ¥ MOQHLA

4. ¥ MOHQLA

Question Number : 8 Question Id : 9277591358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Af3d Hie U H, 785291 I PBLQMS & U H ifSd fobdl T § 3R 48036 BT ZBOAH & =0 § SifSd fwam mar g Y 902653 &
fore drs w32

Options :

1. % MQOHLA

2. % MOQLHA

3. ¥ MOQHLA

4. % MOHQLA



Question Number : 9 Question Id : 9277591359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, WASH is coded as 2086 and CORE is coded as 1375 then what is the code for CASHEW?
Options :

1. ¥ 108652

2. % 108653

3. % 180653

4. % 180562

Question Number : 9 Question Id : 9277591359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (AfEd HIe U &, WASH B 2086 & U H ifSd fobdl T @ 3R CORE &Y 1375 & U A ifed fobdr T 8 df CASHEW & forw
DS FAT Y

Options :

1. ¢ 108652

2. % 108653

3. % 180653

4. % 180562

Question Number : 10 Question Id : 9277591360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A=2,B=4and VIRUS = 178 then what is the code for CLOVE?
Options :

1.+ 114

2. % 115

3. % 116

4. % 117

Question Number : 10 Question Id : 9277591360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf¢ A =2, B=4 3R VIRUS = 178 8 @l CLOVE & [l &I 1 87
Options :

1.¥ 114

2. % 115

3. % 116

4. % 117

Question Number : 11 Question Id : 9277591361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, the words PRELIMS and HABITAT are coded as EPRLSIM and BHAITTA respectively then what is the code for
RESERVE?

Options :

1. ¥ SREEREV
2. ¥ SREEERV
3. % RSEEERV
4. ¥ RSEEVER

Question Number : 11 Question Id : 9277591361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (YA DIS U H, PRELIMS 3R HABITAT Teg ®I HHRT: EPRLSIM 3R BHAITTA % %0 8 ®ifed a1 7741 § df RESERVE & T
HIS H?

Options :

1. % SREEREV

2. ¥ SREEERV

3. % RSEEERV

4. % RSEEVER

Question Number : 12 Question Id : 9277591362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Analyze the following information and answer the question that follows. A Shopkeeper has five items A, B, C, D and E.
I. B weighs thrice as A.

II. E is one and half times heavier than D.

III. A is two and half times heavier than C.

IV. D weighs thrice as C.

Arrange the items in the descending order of their weights.

Options :

l1.* B,E,A,C,D
2. B,E,D,A,C
3. D,E,C,A,B
4. % C,E,A,B,D

Question Number : 12 Question Id : 9277591362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRed SHER! &1 fa<ey o 3 3R 3 U BT IW < o A1 {301 11 81 Th gHIMER & U Uid a¥ A, B, C, D 3R E g
I. B BT IoH A QA TH AR

II.E, D ¥ 8¢ T HRI |

1L A, C ¥ T8 T U B

IV. D &1 qoF C 9 i T 8

I3 DI Ih IO & 3(eRI! hH T IR D1 |
Options :

1. % B,E,A,C,D

2.¥B,E,D,A,C

3.% D,E,C, A,B

4.% C,E,A,B,D

Question Number : 13 Question Id : 9277591363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Introducing a boy, Raman said, " He is the son of the brother of my sister's mother." How is Raman related to that boy?



Options :
1. ¥ Cousin
2. # Brother
3. % Father
4. % Son

Question Number : 13 Question Id : 9277591363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ASSH &1 URTT Gd gU, T - Hel, "8 TRI 961 &1 AT & HTS BT Il g 1" I 39 TSdh U Hd Jalerd g2
Options :

1. ¥ TeRI/ARIR/GURT/TERT HIS

2. % Yy

3. % fur

4. % §c7

Question Number : 14 Question Id : 9277591364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E, F are sitting in a row. A and E are in the centre. B and D at sitting at both the ends. D is sitting to the right of F. Who is sitting to
the right of B?

Options :
1. % E
2. % A
3. ¢°C
4, # F

Question Number : 14 Question Id : 9277591364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,B,C,D,E,FIG HARH IS 8| AR EDGEHGIBIAR DI BRI IS G| D, F b a5 IR 43718 | B HI a8 3R DI I31 82

Options :



1. ® E
2.% A
3.¢C
4. % F

Question Number : 15 Question Id : 9277591365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analyze the given information and answer the question that follows.

The criteria for selecting an Assistant Professor for Mathematics have been given as under:

The candidate must:

1. have a Ph.D. degree with first class in the specified subject.

2. have a minimum of 5 years of teaching experience in the Degree college.

3. Be between 30 and 40 years of age as on the date of application

4. NET qualification is mandatory.

The following exceptions apply:

A. If a candidate meets all other criteria except 2 as mentioned above, the candidate will be referred to the Principal.
B. A candidate whose age is more than 40 years but less than 45 years will be referred to the Head of Department.

Arun Nair who is a Ph.D. in Mathematics has scored 64.16 percent in Ph.D. He is 34 years old and has an experience of 6 years in the teaching
field in a degree college. He have not Qualified the NET examination.
What decision should be taken about this candidate?

Options :

1. # The candidate should be selected

2. ¥ The candidate should be rejected

3. % The candidate should be referred to the Principal

4. # The candidate should be referred to the Head of the Department

Question Number : 15 Question Id : 9277591365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS THBRT BT [IRAT01 Y 3R I U BT IR ¢ Sl A1 fean T g
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3BT AR Sl 70T & Ph.D 8, Ph.D  64.16 U= 3ics Ut fobU &1 a8 34 98 &1 8 iR Uep WIaes HeTfaenad # fRiemr 85 7 6 ay &1
YT g | I NET U1 30l 78] &1 g |

39 SWIgaR & IR H 1 (i feram S =nfewe

Options :

1. % JWIGIR &I 994 fooa1 ST 91T

2. ¢ JHIGAR DI WIS BT ARG

3. % IR & TUHRT B Iefid foear ST =g

4. % Iufiqar & [quTTIeae &1 afHd foar ST a1y

Question Number : 16 Question Id : 9277591366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:
I. Some birds are pigeon.
II. Some pigeons are not clever being.

Conclusions:
I. Some pigeons are birds.
II. Some clever beings are birds.

Options :

1. ¥ Conclusion I follows
2. # Conclusion II follows
3. # Both I and II follows
4. ® Neither I nor II follows



Question Number : 16 Question Id : 9277591366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § &) pY= feu U 8, for e a1 &l s [ 3R 11 fau 71U § 1 3imuep! 39 SU=T &) et A=+ 7, Hal 81 I8 Ir9=aa: 1d 9 I e uehta
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fm:
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Options :

1. ¢ Treandl | SFRUT R §

2. % fYSHY [1 3IERV Hal §

3. % [ 3R 11 ST SFERUI xd §
4. % F1 3R TE I 3T BT §

Question Number : 17 Question Id : 9277591367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two courses of action numbered I and II. Analyze the two courses of action together and
decide which of the suggested courses of action logically follow(s) for pursuing.

Statements: The poverty in our country is increasing due to population explosion.

Course of action :
I. The Government should take measures to control the population explosion.
II. The government should educate people about the cons of poverty due to population explosion.

Options :
1. # only I follows
2. % Only II follows



3. % Both I and II follows
4. % Neither [ nor II follows

Question Number : 17 Question Id : 9277591367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Y H, T HY a1 1 8, 3P d1¢ HRATs & &l HH [ 3R 11 fGU T § | H1RaTs & SIHI 1 o1 U Iy faawor &3 3R fofa o f
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Options :

1. # $Had | IR0 FRAT §

2. % HAd I1 IR0 BT §

3. ¥ 1 3R 11 ST 3FIER0I xd §

4. % 1 3R 8 11 STIRI Rl §

Question Number : 18 Question Id : 9277591368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, a statement has been given, followed by two assumptions numbered I and II. Analyze the two assumptions together and
determine which of them is/are implicit in the statement.

Statements: A School has advertised about the vacancy for the post of Head Clerk with minimum qualification as graduation.

Assumptions:
I. Only graduate candidates will apply.
II. Candidates with Masters can also apply.

Options :
1. % Only I is implicit
2. % Only II is implicit



3. % Both I or II is implicit
4. # Neither I nor II is implicit

Question Number : 18 Question Id : 9277591368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY T, Th By a1 a1 8, o9 91 Gl ShHiferd YRUM 1 3R 11 &1 718 § | ST YRUMSHT T Teh A1y fazeiyor &b iR Fyiid &3 fob
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YRUU:
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Options :

1. % Haa 1 fAfed g

2. % Haa nfAfedg

3.7 ararnfAfkas

4. % FrRAQuRARIR

Question Number : 19 Question Id : 9277591369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth series on the same basis as the second series is related to the first series.
3,5,7,9:0,2,4,6::7:1,3,5,6

Options :

1. % 4,5.8,9
2.9%4,6,8,9
3.% 4,6,7,8
4. % 4,6,7,5

Question Number : 19 Question Id : 9277591369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &1 99 B 1 A1t e ¥ S SR ¥ Hafdd g o UeR ¥ gust 4@l Ugah 4udr § afd g |
3,5,7,9:0,2,4,6::7:1,3,5,6

Options :

1.%4,58,9

2.94,6,8,9

3.%4,6,7,8

4.% 4,6,7,5

Question Number : 20 Question Id : 9277591370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series
245913068, 45913068, 5913068, 913068, ?

Options :

1. % 13069
2. % 91308
3. ¥ 13068
4. % 59130

Question Number : 20 Question Id : 9277591370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiRad sRae &1 [ 1 &3

245913068, 45913068, 5913068, 913068, ?
Options :

1. ¥ 13069

2. % 91308

3. ¥ 13068

4. % 59130



General Ability2

Group Number : 2

Group Id : 92775922
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Ability2

Section Id : 92775922
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775926
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277591371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ® 56:224
2. % 73:292



3. ¥ 68:270
4. % 61 :244

Question Number : 21 Question Id : 9277591371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt foewedl A @ & e i % @ THH 81 gTaiTe, T faded 3/ diF ot aRE el ¢ | 39 fached o1 I &Y oY 30 ¥ 3T 5|
Options :

1. % 56:224

2. % 73:292

3.9 68:270

4. % 61 :244

Question Number : 22 Question Id : 9277591372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two signs should be interchanged to make the below equation mathematically correct?
129+ 72-9+3 x24=65

Options :
1.9 + -
2. % = X
3. % X -

4. % + .

Question Number : 22 Question Id : 9277591372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

+ fau T iR &1 Wt 9 & e e &l fagl &l 7T U § TRER daa- aiigq?
129+ 72-9+3 x24=65

Options :
1.+ -

2. % = x




3.8 x -

4. % 4

Question Number : 23 Question Id : 9277591373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Supriya's mother was 27 years old when she was born. The sum of present ages of Supriya and her mother is 83. What was Supriya's age 10 years
ago?

Options :

1. # 23 years

2. % 28 years

3. % 20 years

4. ¥ 18 years

Question Number : 23 Question Id : 9277591373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁmﬁwﬁ&nﬁmaﬁmwmwg&nwgﬁmeﬁ?wﬁwﬁﬁqﬁ&mmw 83 81 o &1 319 10 I8 Ugd 1
?

Options :

1. %2335
2. % 28Ty
3. % 2099
4. ¢ 1894

Question Number : 24 Question Id : 9277591374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many different ways can the letters of the word 'PROBLEM' be arranged so that the vowels always come together?
Options :

1. # 520

2.9 1440



3. % 720
4. %= 260

Question Number : 24 Question Id : 9277591374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G "PROBLEM' & 31&RI B fhc STHT-31eNT aRioh| o aiyd ol ST Hevdl § i WR gHRI U AT 32
Options :

1. % 520

2.9 1440

3. % 720

4. % 260

Question Number : 25 Question Id : 9277591375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What number will you obtain when you multiply all the numbers on a calculator?
Options :

1. * 362880

2. % 23690

3.0

4. % 773650

Question Number : 25 Question Id : 9277591375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 31T IRBAD (BagpaieR) TR TH TeATST B1 T0M HRd g A STUH! DI Tt WA U il
Options :

1. # 362880

2. % 23690

3.0

4. % 773650



Question Number : 26 Question Id : 9277591376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Today is Saturday 25th January, 2001. What was the day on 25th January 20007
Options :

1. # Sunday

2. % Monday

3. # Friday

4. ¥ Thursday

Question Number : 26 Question Id : 9277591376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TST 25 STHERY, 2001, AR § 1 25 AT 2000 P DI AT & 412
Options :

1. % IqaR

2. % AR

3. ¥ YehdR

4, ¢ T[>dR

Question Number : 27 Question Id : 9277591377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between Rice, Wheat and Crops?
Options :



2. ¥

O

0B®

Question Number : 27 Question Id : 9277591377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I &9 91 99 o arad, g 3R Hadl & d1d & Gt B JaY 35T ST 82

Options :

®



2. ¥

O

0B®

Question Number : 28 Question Id : 9277591378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Circle A represents Principals, Circle B represents Teachers and Circle C represents Women. Which part of the figure

represents Principals who are Teachers but not Women?
B

Teachers Principals

v Women
C

o
).



Options :
1.¥4
2. %5
3.% 6
4, %7

Question Number : 28 Question Id : 9277591378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaiad siefa #, 30 A TR &1 ufafftia @xal g, 39 B el &1 ufafftia @xar § $ik 9 ¢ Afearsit &1 ufaffia Hrar g |
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AfgerTai

Options :
1.¥4
2. %5
3.% 6
4, %7

Question Number : 29 Question Id : 9277591379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nita placed the clock on the floor such that at 3.00 pm the hour-hand is pointing in the east direction. In which direction the minute-hand will
point when the clock shows 7.00 pm?

Options :



1. ¥ North
2. # East

3. % West
4. # South

Question Number : 29 Question Id : 9277591379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁgﬂ%ﬁ%ﬁwﬁwwmwﬁnoo&mwﬁ%ﬁﬁéuﬁ‘%maﬁeﬁ?ﬁﬁélGia'ae_‘hoo&ma%@?ﬂ%a‘rﬁﬂfﬁgém
N

Options :

1. ¥ IW

2. % Qg

3. % gigg

4. % Gfarom

Question Number : 30 Question Id : 9277591380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rita started walking from point A. she walked 10 km straight and reached point B. Then she turned towards her right and walked for 6 km
straight till point C. She then moved to her left and walked for 3 km straight till point D. She then finally turned to her left and walked straight for
6 km. How far is Rita from the starting Point?

Options :

1. ®* 3 km
2. % 10 km
3.9 13 km
4. % 12 km

Question Number : 30 Question Id : 9277591380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 7 g A 9 I = BT a8 10 km el It 3R fog B IR uga | fhr a8 3o+t a8 SR g1 31K foig ¢ T 6 km el =relt| 98 i
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Options :

1. ®¥ 3km

2. % 10 km

3.¥ 13km

4. % 12 km

Question Number : 31 Question Id : 9277591381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sana once started walking towards the north. She walked for 20 m and turned to her right and continued walking for 16 m then she turned right
and walked for 20 m. She again turned to her right and walked for 10 m. How far is the starting point from the end point and in which direction?

Options :

1. ¥ 6 m West
2. ¥ 6 m East

3. ¥ 8 m North
4. * 7 m West

Question Number : 31 Question Id : 9277591381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT U IR SR BI 3R I T T8 20 m TP et 3R IUDb M-t 3R TS 718 3R 16 m AP il Xa! (bR I8 &Te 3R ot 3R 20 m
d gait| I8 bR T 31Ul a8 SR TSt 3R 10 m d% Tt | 3id g & URMe® foig forait @R 8 o fra femm A &2

Options :

1. ¥ 6 m UigH
2. % 6mqj
3. % 8m 3R
4. % 7 mUfgH

Question Number : 32 Question Id : 9277591382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the missing figure in the matrix.

—| | |7
- I ?
Options :

\

/




'

Question Number : 32 Question Id : 9277591382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DfeRT J I 3M1Piet I B
= 1]/
— || |7
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Options :




N\

.

4.

Question Number : 33 Question Id : 9277591383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

<éﬁ ? \/

\% ' e

Options :

=

1. ¢




N

S o
<

=

Question Number : 33 Question Id : 9277591383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



=

N
2. % —
=

>

Question Number : 34 Question Id : 9277591384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

O O A o
0 & —~ @

% — 8 0

2
S
O 2 ®
I

3.¢

Question Number : 34 Question Id : 9277591384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feu U fyewet # § I v i 8% § g €1 gTdiies, U fdshed 30 ofiF o1 avg T8 81 3 fdched &1 9a &3 off 30 3T ]

Options :




O 0O A
O & —~ @
% — 8 0
1. ®
- 8 0O %
O A o O
& — Q
2. ®
- & @ O
(9] of'fnm ;¥
o0 O
3.¢
nm O 0O A
Q & ~
0 9 — =
4, %

Question Number : 35 Question Id : 9277591385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the image that is related to the third image on the same basis as the second image is related to the first image.

@ | i $ a
$ & b )
& . @ = . .
% % d




b
c
d
a
1. %
c
d
b
d
2. %
d
a
b
c
3. %
b
c
a
d
4.

Question Number : 35 Question Id : 9277591385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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@ $ a
3 & b
& @ C ?
% % d
Options :
b
C
d
a
1. %
c
d
b
d
2. #
d
a
b
[
3. ®
b
&
a
d
4. v

Question Number : 36 Question Id : 9277591386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The 6 faces of a cube are named A, B, C, D, E and F. The given images are of this cube. Which letter will appear on the face opposite to the face
with letter F?

B E

Options :
1. % A
2.% B
3.¢C
4. % D

Question Number : 36 Question Id : 9277591386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH U7 P 6 BAB Bl A, B, C,D, E IR FAH T U | <1 7S BfAui ST g 5 € | DIF IT &R, &R F b Badh b - fG\Ts

B E

Options :
1. % A
2. % B
3. ¢C
4. % D

Question Number : 37 Question Id : 9277591387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What pattern would appear if the square transparent sheet is folded along the dotted lines?



= s = =] o

Options :

1. ¥

o LY

Question Number : 37 Question Id : 9277591387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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= s = =] o

Options :

1. ¥

o LY

4. %

Question Number : 38 Question Id : 9277591388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following sheet is folded along the lines given to form a cube, which number is opposite to the face with number 6?



Options :
1. %2
2.¥3
3. % 4
4. % 5

Question Number : 38 Question Id : 9277591388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad 2ie & o 99 & forw &) 78 Rarsh & W1y AIST T §, i I U1, T-AT 6 b Held &b ITH 82

3

Options :
1. %2
2.¥3
3. % 4
4. % 5

Question Number : 39 Question Id : 9277591389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

?

Options :

3. ¢

OO |




Question Number : 39 Question Id : 9277591389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad # 9 o T SR 3BT U 3Hid BT SRae &l IR HRaT 82
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Options :

3. ¢

O
O
O




Question Number : 40 Question Id : 9277591390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the right side of the figure given, then which of the answer figures will be the right mirror image of the given figure?

X
Ve
N
A

1. ¢




Question Number : 40 Question Id : 9277591390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General Awarenessl1
Group Number : 3
Group Id : 92775923
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awarenessl1
Section Id : 92775923
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775927
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9277591391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The famous 'Pathar Ki Masjid' of Patna was built by
Options :

1. % Alauddin Khilji

2. % Aurangzeb

3. % Parvez Shah

4. % Sher Shah

Question Number : 41 Question Id : 9277591391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uel & URIG 'URR ST Aike &1 FHf SR fobar T 7|
Options :

1. % A3 Raereit

2. % RS

3. ¢ T4 8

4. % YR TG

Question Number : 42 Question Id : 9277591392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Perini dance form is performed while worshipping Lord
Options :



1. # Rama
2. ¥ Shiva
3. % Indra
4. # Ganesha

Question Number : 42 Question Id : 9277591392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YITaT B Yol B T U T fopar ST B
Options :

1. # MH

2. ¢ @

3. % 3%

4. % IO

Question Number : 43 Question Id : 9277591393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gha To Kito describes the natural beauty of state.
Options :

1. ¥ Sikkim

2. % Manipur

3. ® Maharashtra

4. % West Bengal

Question Number : 43 Question Id : 9277591393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 el Picl T P Wi Yexdl BT aui- SRl g |
Options :

1. ¢ RifgmH




2. % AR

3. % HERIY
4. % Ui¥H ST

Question Number : 44 Question Id : 9277591394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lohri, a Punjabi folk festival, is celebrated in the month of
Options :

1. % December

2. % March

3. % April

4. % January

Question Number : 44 Question Id : 9277591394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UolTel! e AER, Algal & HEN H HT ST g |
Options :

1. * fq¥sR

2. % O

3. % 3

4. ¢ S

Question Number : 45 Question Id : 9277591395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Net National Product at market price - Net Indirect taxes =

Options :
1. # Net Domestic Product at market price

2. ® Gross Domestic Product at factor cost



3. % Gross Domestic Product at market price
4. ¥ Net National Product at factor cost

Question Number : 45 Question Id : 9277591395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISR el R Y AP IATG - T ST PR =
Options :

1. # R I W Fad <= 3drg

2. % HRD AN W Fehdl O] IdIG

3. % §OIR Jod R Yhdl IR IATG

4. ¢ BRS AN W Y& P IdTQ

Question Number : 46 Question Id : 9277591396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the largest foreign bank in India? It is headquartered in London and has approximately 100 branches and outlets in
India.

Options :

1. % HSBC

2. ® Deutsche Bank

3. % Standard Chartered Bank
4. % Citi Bank

Question Number : 46 Question Id : 9277591396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & W URd &1 Iad gt faeRh d& 82 THH JeIrad de- H fUd g 3R HRd H SHH! TTHIT 100 TMETY 3fR ST3eac g |
Options :

1. # HSBC

2. % SR OF

3. ¢ s dIcs db




4. % Yt do

Question Number : 47 Question Id : 9277591397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the Fiscal Responsibility and Budget Management Act enacted?
Options :

1. % 2008

2. %2003

3. % 2005

4. % 2009

Question Number : 47 Question Id : 9277591397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OH YT ITREIAT 3R Fore TeeH iAoy we @ fear i um
Options :

1. % 2008

2. %2003

3. % 2005

4. % 2009

Question Number : 48 Question Id : 9277591398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate at which banks park their short-term excess liquidity with the RBI is called

Options :

1. ¥ Reverse Repo rate
2. % Repo rate

3. % Bank rate

4, % Interest rate



Question Number : 48 Question Id : 9277591398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 G IR 9 RBI & 1Y 30T fcUabifid 3ffaRad Td Ry o RR Hd 8, 39 ERSIGIE
Options :

1. ¢ Redmr R

2. ¥R

3. % B R

4. % N R

Question Number : 49 Question Id : 9277591399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021 under Vehicle Scrapping Policy, vehicles would undergo fitness tests in automated fitness centres after
years in case of commercial vehicles.

Options :
1.¥ 15
2. %20
3. % 12
4. % 18

Question Number : 49 Question Id : 9277591399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 15

2. %20

3. % 12

4. % 18




Question Number : 50 Question Id : 9277591400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The index of refraction for vacuum is exactly
Options :

1.¥ 1

2.%0

3.% 2

4. %5

Question Number : 50 Question Id : 9277591400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fyafa & forg srads &1 qasis faepd gl
Options :

1.9 1

2.%0

3.% 2

4. %5

Question Number : 51 Question Id : 9277591401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability of carbon to form bonds with other atoms of carbon is termed
Options :

1. * substitution

2. % combustion

3. #* oxidation

4. % catenation

Question Number : 51 Question Id : 9277591401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT P 3T TRHTISH & Y TS T B HIa 1 &l Bl FHEI a5 |
Options :

1. % gfaeo

2. % g

3. % IRl

4.« BT

Question Number : 52 Question Id : 9277591402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A major part of the is the marine ecosystem in the ocean.

Options :

1. ¥ hydrosphere
2. % lithosphere
3. % atmosphere
4. ¥ biosphere

Question Number : 52 Question Id : 9277591402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 T T e AerR § s uia ]

Options :

1. ¢ SITHTS
2. % RdHSA
3. % gIgHSd
4. % STAUSA

Question Number : 53 Question Id : 9277591403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Spirogyra reproduces through the process of

Options :

1. ¥ fragmentation
2. % regeneration

3. ® gspore formation
4. % budding

Question Number : 53 Question Id : 9277591403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTSRITISRT @1 UfohdT o HTeAH ¥ Yoid Bl 5 |
Options :

1. ¢ ThIHeRM

2. % JSRYA

3. % WR BIHRH

4. % &

Question Number : 54 Question Id : 9277591404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Biological Diversity Act was passed in
Options :

1. % 2005

2. %2002

3. % 2000

4. % 1995

Question Number : 54 Question Id : 9277591404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sifge fafayar sifafas # uiia fosar mar



Options :
1. # 2005
2. % 2002
3. % 2000
4, % 1995

Question Number : 55 Question Id : 9277591405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
adjusts the size of pupil according to the intensity of light.
Options :
1. ¥ Iris
2. % Cornea
3. % Lens
4. ® Retina

Question Number : 55 Question Id : 9277591405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT b1 Aol & SFIIR Yol & bR Bl THRAIT Bl 7
Options :
1. ¥ 3R
2. % IdHHUS AT
3. % o9
4. % ¥ Ucd

Question Number : 56 Question Id : 9277591406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
soils are widely used for making bricks for use in house construction.

Options :



1. # Black
2. ¥ Laterite
3. % Arid
4. #® Alluvial

Question Number : 56 Question Id : 9277591406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 0 & IUgT & forg €e 9 & forg el &1 TS U F IUANT foa Srar g |
Options :

|. % BTl

2. ¢ AT

3. % [

4. % SAIG

Question Number : 57 Question Id : 9277591407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bargi Dam in Madhya Pradesh is built across the river.
Options :

1. % Sone

2. % Barna

3. % Narmada

4. ¥ Chambal

Question Number : 57 Question Id : 9277591407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A YR H S0 91y T R SR T B |

Options :

1. % g+



2. % §MI
3.« THaT

4, % Iqd

Question Number : 58 Question Id : 9277591408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The highest peak of Andhra Pradesh, Arma Konda which is also known as Jindhagada, is located on which of the following ranges?
Options :

1. # Aravalli

2. % Satpura

3. % Western Ghats

4. ¥ Eastern Ghats

Question Number : 58 Question Id : 9277591408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U B! JaG Sl AT, 3RAT et o fSmerme1 & 7 I +f s i, Fufafaa § 3 forg uddawrer R fRud g2
Options :

1. % SRqal

2. % {dysl

3. % gigHl e

4.« gdlidre

Question Number : 59 Question Id : 9277591409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following trench is not located in the Pacific Ocean?
Options :

1. # Peru-Chile Trench

2. % South Sandwich Trench



3. % Tonga Trench
4. ® Japan Trench

Question Number : 59 Question Id : 9277591409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & @ & 91 T URIid HerrR H Ry T8 32
Options :

1. % UF-frefl e

RS CERIG]

3. % TR

4. % SOH T

Question Number : 60 Question Id : 9277591410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the real name of Humayun?
Options :

1. ¥ Naseeruddin Mohammed

2. ® Zaheeruddin Mohammed

3. # Jalaluddin Mohammed

4. ® Muhiuddin Mohammed

Question Number : 60 Question Id : 9277591410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gAY 1 IRdfdd TH &1 82

Options :

1. ¢ T A Alg G

2. % SRIve A AlgHG

3. % SdIe A AigHa




4. % gfg3eH HigHg

General Awareness2

Group Number : 4

Group Id : 92775924
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 92775924
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775928
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9277591411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who defeated the Afghans in the Battle of Ghaghara in 1529 A.D.?



Options :

1. # Shah Jahan
2. # Akbar

3. % Humayun
4. ¥ Babur

Question Number : 61 Question Id : 9277591411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1529 5 U °TeRT & g H B! PI forae g UM
Options :

1. % 21 o8l

2. % bR

3. % gAY

4, % dldX

Question Number : 62 Question Id : 9277591412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following vedas is also known as the 'Veda of Magical Formulas and Spells'?
Options :

1. % Rig

2. ¥ Atharva

3. * Yajur

4. % Sama

Question Number : 62 Question Id : 9277591412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffad aei & 9 frd ag it AfvTerd Ba U8 We' & A1 I it 1 SIra1 82

Options :




1. % BT
2. 3Yd

3. % q9R
4. % g

Question Number : 63 Question Id : 9277591413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Khilafat Committee launched a Non-Cooperation movement on triple issues- Punjab wrongs, Khilafat issue and Demand for Swaraj in the
year

Options :
1. % 1920
2. % 1924
3. % 1928
4. % 1932

Question Number : 63 Question Id : 9277591413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gl  Raawa IAfd A foud g R U SgdiT Siiaiar IR - Ul Tard, Radamhd GgT SR @RS &t 77|
Options :

1. % 1920

2. % 1924

3. % 1928

4. % 1932

Question Number : 64 Question Id : 9277591414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Governor General of India during the mutiny of 18577
Options :

1. # Lord Dalhousie



2. ¥ Lord Canning
3. % Lord Irwin

4. % Lord Cornwallis

Question Number : 64 Question Id : 9277591414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 % fa5I8 & SR YRA & HERSIUTA DI A7
Options :

1. % s SAgroll

2. ¥ TS BT

3. % die sfdd

4. % QIS BTy

Question Number : 65 Question Id : 9277591415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Treaty of Allahabad signed?
Options :

1. % 1768

2. % 1758

3. ¥ 1765

4. % 1770

Question Number : 65 Question Id : 9277591415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gaTgTaTe b1 HfE TR §EAIER b fby T A2
Options :

1. % 1768

2. % 1758



3. ¥ 1765
4. % 1770

Question Number : 66 Question Id : 9277591416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Midnight’s Children' is written by which of the following authors?
Options :

1. ¥ Salman Rushdie

2. # R. K. Narayan

3. ¥ Mulk Raj Anand

4. # Amitav Ghosh

Question Number : 66 Question Id : 9277591416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & 9 ford aass A fregey fae fordt g2
Options :

1. ¥ FAHH RG]

2. % 3R, &b, AR

3. % Gohrrol g

4. % JHFATH U

Question Number : 67 Question Id : 9277591417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Idea of Justice' is written by

Options :

1. % Adam Smith
2. ¥ Amartya Sen
3. ¥ J. M. Keynes



4. % Karl Marx

Question Number : 67 Question Id : 9277591417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 3MTfean i S gR1 ford) 715 B
Options :

1. % TeH Ry

2. ¢ SHA I

3. % . UH. B

4. % HTd AR

Question Number : 68 Question Id : 9277591418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an autobiography of Sachin Tendulkar?
Options :

1. # Playing to Win

2. % Ace Against Odds

3. #® The Test of My Life

4. ¥ Playing It My Way

Question Number : 68 Question Id : 9277591418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol § 3 o W@ i dgaaR BT SHTHD YT 872
Options :

], % Q@TE AN

2. % UY 31 3figy

3. % T X 3B AT dI3H

4. ¥ QSNICHR T




Question Number : 69 Question Id : 9277591419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the 'Best Actress' award in the 65th Filmfare Awards 20207
Options :

1. #* Bhumi Pednekar

2. % Taapsee Pannu

3. ¥ Alia Bhatt

4. #* Sara Ali Khan

Question Number : 69 Question Id : 9277591419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

659 PR RIWBR 2020 T TIAF T HT RIBR forg= Sitar
Options :

1. % Y UgHex

2. % qOY Uy

3. ¢ 3fTferT g

4. % RT3l @

Question Number : 70 Question Id : 9277591420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vijay Ghat is the memorial of which of the following leader?
Options :

1. % Mahatma Gandhi

2. % Lal Bahadur Shastri

3. % Rajiv Gandhi

4. # Indira Gandhi

Question Number : 70 Question Id : 9277591420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faorg are Fufafaa 7 @ fg Jd1 &1 WRS 82
Options :

1. % [T et

2. ¢ AIAEgIgR YRl

3. % it mieh

4. % Zfar wieh

Question Number : 71 Question Id : 9277591421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following films won the Oscar 2020 for the best animated feature film of the year?
Options :

1. ¥ Toy Story 4

2. % Missing Link

3. ¥ Klaus

4. % [ Lost My Body

Question Number : 71 Question Id : 9277591421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad e d @ fbg ad 1 gdgy THHdS BieR fthed & for 311wbR 2020 Wit
Options :

1. ¥ TR 4

2. % fofd fofep

3. % FAN

4. % 33 AR A SIS

Question Number : 72 Question Id : 9277591422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who was the first temporary chairman of the Constituent Assembly?
Options :

1. ¥ Sachchidananda Sinha

2. % Rajendra Prasad

3. ¥ B. R. Ambedkar

4. % Jawaharlal Nehru

Question Number : 72 Question Id : 9277591422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I qUT & Usd SR sregel B A
Options :

1. ¢ e R

2. % olg UG

3. % . 3R, IFISHY

4. % SATEIATd g%

Question Number : 73 Question Id : 9277591423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

92nd Constitutional Amendment included more languages in the Eighth Schedule.
Options :

1.¥ 4

2.%3

3.% 2

4, % 5

Question Number : 73 Question Id : 9277591423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

920 HaYTer TRNY = SAT3a I & 31T Hrasf o1 wnfire foar |



Options :
1.¥ 4
2.% 3
3.% 2
4, % 5

Question Number : 74 Question Id : 9277591424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of 'Rule of Law' in the Indian Constitution is borrowed from the constitution of
Options :

1. % Australia

2. # Germany

3. # United States of America

4. ¥ United Kingdom

Question Number : 74 Question Id : 9277591424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URAG Gfae™ & Tafd e (= 3 ol &1 hea & TRAYF A IUR A TS g
Options :

1. % 3fiecier

2. % S

3. % Yo ST SARBT

4. ¢ GA3CS fhireg

Question Number : 75 Question Id : 9277591425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
72nd Constitutional Amendment provided for reservation of seats for the Scheduled Tribes in the Legislative Assembly of
Options :



1. # Nagaland
2. ¥ Tripura
3. ¥ Mizoram
4. % Sikkim

Question Number : 75 Question Id : 9277591425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

720 FauTd MY A & Iy TUT  SrIfad SHofadl o forg Hiel & 3MRemr & fore uem fean
Options :

1. % 9ATCTS

2. ¢ QR

3. % fOeIRA

4. % THfdwd

Question Number : 76 Question Id : 9277591426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rovers Cup is associated with which of the following sports?
Options :

1. # Hockey

2. ¥ Football

3. ® Tennis

4. % Cricket

Question Number : 76 Question Id : 9277591426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 fey e 9 a8 HU ST 82

Options :

1. % gt



2. ¢ padid
3. % 29
4. % fopohe

Question Number : 77 Question Id : 9277591427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team won the Ranji Trophy in March 20207
Options :

1. % Bengal

2. % Mabharashtra

3. % Karnataka

4. ¥ Saurashtra

Question Number : 77 Question Id : 9277591427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2020 T OSH STt foog €| A Siidh
Options :

1. ® §d

2. % HERIY

3. % PHlCH

4. ¥ °ARTY

Question Number : 78 Question Id : 9277591428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was the U19 Cricket World Cup held in the year 2020?
Options :

1. ¥ England

2. % South Africa



3. # Australia
4. * India

Question Number : 78 Question Id : 9277591428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ 2020 H U19 fobdpe fay & wHaT SmafSid fovam ar U
Options :

1. % 3dig

2. ¢ GI&UT 3TIhIhT

3. # 3fiReferar

4. % HRd

Question Number : 79 Question Id : 9277591429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state topped the medals tally in the 3rd season of Khelo India Youth Games, 2020?
Options :

1. % Delhi

2. % West Bengal

3. % Maharashtra

4. % Haryana

Question Number : 79 Question Id : 9277591429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T I Wil 3T gy T, 2020 F TR oA H U ot H Ja HWR G
Options :

1. % ool

2. % UfYH §I

3. ¢ HeRTY



4. % giwgmom

Question Number : 80 Question Id : 9277591430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who became the first substitute in a football match to score 5 goals in a single match?
Options :

1. % Gareth Bale

2. ¥ Robert Lewandowski

3. % Wayne Rooney

4. % Lionel Messi

Question Number : 80 Question Id : 9277591430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Uhd B 5 Md B d1d eard Hd 8 Ugal Ui S a1
Options :

1. % RY &

2. ¢ dE AISIDI

3. % gTEA

4. % forgHe o=l

Arithmetic Abilityl

Group Number : 5

Group Id : 92775925
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Abilityl

Section Id : 92775925
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775929
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9277591431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the product of 50 odd natural numbers?
Options :

1. ® even

2. % odd

3. ® zero

4. % one

Question Number : 81 Question Id : 9277591431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
50 fawg Hlpd AT Bl HUEEY| EP’:IT%?
Options :




1. % 99
2. ¢ fawm
3. % 3
4. % Th

Question Number : 82 Question Id : 9277591432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The LCM of two numbers is 336 and their ratio is 8:7. What are the numbers?
Options :

1. # 64,56

2. % 16,14

3. % 16,21

4,9 48,42

Question Number : 82 Question Id : 9277591432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& =3t T TYTH JHUGID 336 8 SR ST ST 8:7 ¢ | TATY 7 82
Options :

1. % 64,56

2. % 16, 14

3. % 16,21

4.9 48 42

Question Number : 83 Question Id : 9277591433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many numbers from 19 to 89 are exactly divisible by 77
Options :

1. % 12



2.¥10
3.% 11
4.%9

Question Number : 83 Question Id : 9277591433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 ¥ 89 T fara-t TAT 7 9 1 TRE I faursa &7
Options :

1. % 12

2.¥10

3.% 11

4. %9

Question Number : 84 Question Id : 9277591434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The positive integers p and q leave remainder of 3 and 4, respectively when divided by 5. What is the remainder when p - q is divided by 5?
Options :

1. %5

2.¥4

3.% 3

4. % 2

Question Number : 84 Question Id : 9277591434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T QUM p 3R q HHA: 3 3R 4 FHT AVHA BISd §, od 5 F AU fBaT @181 516 p - q BT 5 Tavifora fosan siran g o = Awwa
el 87

Options :

1. %5

2.¥ 4



3.% 3
4. % 2

Question Number : 85 Question Id : 9277591435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What least number must be added to 2832, so that the sum is completely divisible by 41?
Options :

1. ¥ 38

2. % 36

3. % 69

4. % 3

Question Number : 85 Question Id : 9277591435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF It YAqH IS § Ford 2832 F SST ST AR T, A1fch I 41 ¥ ol w0 § faursa g
Options :

1. ¥ 38

2. % 36

3. % 69

4. % 3

Question Number : 86 Question Id : 9277591436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between a two digit number and the number obtained by interchanging the digits is 54. What is the difference between the digits?
Options :

1.*9

2. % 1]

3.6

4. % 4



Question Number : 86 Question Id : 9277591436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I 3! DI HBAT 3R DI B SO H TEAD YT HBAT P 9 BT 3R 54 | 3| P dd BT 3R T 62
Options :

1.#9

2. % 1

3.6

4. % 4

Question Number : 87 Question Id : 9277591437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi had to multiply two numbers. Instead of taking 47 as one of the multipliers, he took 74. As a result, the product went up by 513. What is the
new product?

Options :
1. % 893
2. ¥ 1406
3. % 747
4. % 1208

Question Number : 87 Question Id : 9277591437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

33 &1 Gl AT O Bt | U H T TP Bl 47 T & Foid, 39 74 o1 | aRumeRey, IS 513 9% 96 14T 791 OHHS ol 82
Options :

1. % 893

2. % 1406

3. % 747

4. % 1208




Question Number : 88 Question Id : 9277591438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karishma and Amrita run around a circular ground and take 48 seconds and 56 seconds to make one complete round, respectively. If they start
together in the same direction then after how much time will they meet again in the same place?

Options :
1. ¥ 5min 36sec
2. # Imin 44sec
3. % 8min

4. % 4min 30sec

Question Number : 88 Question Id : 9277591438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIRHT 3R 3T Uh MADR He b =R R el ¥ 3R T IS 1 PR A PHH: 48 Aebs 3R 56 Febg WA ¢ 1 e I Teh G fm
T ISP 1Y = Hcl & al U ol IH W R I ford w9y a1 fiyel i

Options :

1. ¢ 5 fBFe 36 9 s
2. % | fiFc 44 Tds
3. % gfiFe

4. % 4fiC 30 Ybhs

Question Number : 89 Question Id : 9277591439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 142a35 is divisible by 11, then what digit should come in place of 'a'?
Options :

1. %6

2.% 4

3.% 1

4. ¥ 8



Question Number : 89 Question Id : 9277591439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 142435, 11 9 fAUT B, T 'a' & RIF TR DI AT 3 T A1MGW?
Options :

1. %6

2. % 4

3.% 1

4. ¥ 8

Question Number : 90 Question Id : 9277591440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the two successive discounts are 10 percent and 20 percent, then what is the value of single equivalent discount percent?
Options :

1. % 27 percent

2. % 28 percent

3. # 30 percent

4. % 15 percent

Question Number : 90 Question Id : 9277591440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3l St Fe 10 Ufawd 3R 20 UfA=Id &, O Thd THGE e Uia=Id &1 7 31 82
Options :

1. % 27 yfa=rd

2.+ 28 Ufa=Id

3. % 30 UfcRrd

4. % 15 gid=d

Question Number : 91 Question Id : 9277591441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If the average of 20 integers is zero, then at most, how many numbers could be greater than zero?
Options :

1.¥ 19

2.% 10

3.% 1

4. %0

Question Number : 91 Question Id : 9277591441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; 20 guifes 7 3id T B, Y iR I 31, fordit T g & 3ifdies 8 abdl 82
Options :

1.¥ 19

2. %10

3.% 1

4.%0

Question Number : 92 Question Id : 9277591442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of a husband, his wife and their child 4 years ago was 27 years and that of husband and wife 3 years ago was 37.5 years. What is
the present age of the child?

Options :

1. # 10 years
2. % 11 years
3. ¥ 12 years
4. % 13 years

Question Number : 92 Question Id : 9277591442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



wqﬁ,gﬂaﬁﬁﬁvmﬁaﬁsﬁwmwﬁ%ﬁmaﬁ?ﬁaﬁwaﬁ%ﬁqﬁSﬁwaﬁﬁeﬁwe{qnsaﬁ%ﬁl S P IIHH
3T T 52
Options :

1. % 1099
2. % 1199
3.4 1299
4. % 1399

Question Number : 93 Question Id : 9277591443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What percent of 600 is 420?

Options :

1. # 40 percent

2. # 65 percent

3. % 70 percent

4. # 80 percent

Question Number : 93 Question Id : 9277591443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
600 T fare=T ufa=rd 420 82

Options :

1. % 40 yfa=rd

2. % 65 Ufd=d

3. ¢ 70 UfcRrd

4, % 0 Ufd=rd

Question Number : 94 Question Id : 9277591444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



42 percent of a number is less than 60 percent of 740 by 87. What is the number?
Options :
1. % 950
2. % 850
3. % 700
4. % 900

Question Number : 94 Question Id : 9277591444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ST BT 42 UFARIA, 740 & 60 TI=Td J 87 GRTHH | - 1 57
Options :

1. % 950

2.9 850

3. % 700

4. % 900

Question Number : 95 Question Id : 9277591445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school, there are 60 percent boys and 40 percent girls. The students are divided into two house groups that is Ambedkar house and Bhagat
Singh house. If 40 percent of the boys and 60 percent of the girls are in Ambedkar house, then what percentage of students are in Bhagat Singh
house?

Options :

1. # 48 percent
2. ¥ 52 percent
3. % 40 percent
4. % 60 percent

Question Number : 95 Question Id : 9277591445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Td UTSRITA H, 60 TI=Id dsd 3R 40 U= A8{dhdi g1 BT &1 &l 8139 IHg! # fauTford foram SITar g S smasds 818 SR HiTd i
TISY B 1 TS SMSHR 813 H 40 UfARId A8 1R 60 UfAwd dsfbal g, O HiTd Rig 8139 # fosdq ufawrd a1 82

Options :

1. % 483 gfard

2. ¢ 52 Ufard

3. % 40 yfard

4. % 60 gfaerd

Question Number : 96 Question Id : 9277591446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price of 12 Kg wheat is equal to the cost price of 9 Kg wheat. What is the gain percent or loss percent?
Options :

1. # Gain of 33 percent

2. ¥ Loss of 25 percent

3. % Gain of 25 percent

4. # Loss of 33 percent

Question Number : 96 Question Id : 9277591446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 kg 7§ 1 faha e 9 ke g & AFTd Yo & SRISR & | AT Uf=Id a1 g1 wfa=rd & g2
Options :

1. % 33 Gf=rd oy

2. ¥ 25 Ufd=rd g1

3. % 25 Ufd=rd Aty

4. % 33 Gfqerd g1

Question Number : 97 Question Id : 9277591447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A shopkeeper made a profit of 70 percent by selling an article. Further, if the cost price is increased by 25 percent but the selling price remains
the same, then how much is the decrease in profit percent?

Options :

1. # 45 percent
2. # 36 percent
3. % 34 percent
4. % 30 percent

Question Number : 97 Question Id : 9277591447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP gHMER A T a¥d SR 70 Ua=Td &1 ary ifofd forar | S8 S, afe anTd ged & 25 Ufa=rd &1 9iG 88 © At [ashd Jed THH
g, ) oY Tifa=rd # farat &HT g8 82

Options :

1. % 45 gfa=rd

2. % 36 gfa=rd

3. ¢ 34 favrd

4. % 30 gfa=rd

Question Number : 98 Question Id : 9277591448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A painting was sold at a profit of 5 percent. If it was sold for Rs. 30 more, there would have been a gain of 10 percent. What is the cost price?
Options :

1. # Rs. 300

2. # Rs. 500

3. ¥ Rs. 600

4. # Rs. 200

Question Number : 98 Question Id : 9277591448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



UH REFASRT 5 Ufa=rd & Ay IR o9 Ts Y| Ife 39 30 ¥ 4T I o<1 71 g1 T, 10 Ui=Td &1 a4 giaT | FTd Jed 1 82
Options :

1. % 300 ¥00

2. % 500 3YY

3. ¢ 600 T

4. % 200 397

Question Number : 99 Question Id : 9277591449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a wallet there are coins of Rs. 1, Rs. 2 and Rs. 5 in the ratio of 2:5:3. If there is Rs. 54 in all, how many Rs. 2 coins are there?
Options :

1. %2

2.% 4

3.410

4. % 6

Question Number : 99 Question Id : 9277591449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP §CUH 1 ¥UT, 2 IUY 3R 5 FUT & RYadh 2:5:3 & 3uTd H 81 Af ITH 1 54 FUD &, A 2 FUY & o Ryaeh 82
Options :

1. %2

2. % 4

3.4 10

4. % 6

Question Number : 100 Question Id : 9277591450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salaries of Aditi and Ayushi are in the ratio 2:5. If the increments 20 percent and 12 percent are allowed respectively in their salaries, then
what will be new ratio of their salaries?



Options :
1. ¥ 3.7
2. % 5:2
3.% 73
4. % 4.9

Question Number : 100 Question Id : 9277591450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&ﬁgj?&mwé\ﬁ:rz:s%ﬂwﬁ%l g 31 da B HHRT: 20 Wa=rd 3R 12 Ufa=id &1 g 8l 8, O S da- o1 741 S{ITd
T ?

Options :
1. 9 3.7
2. % 5:2
3. % 73
4. % 4.9

Arithmetic Ability2
Group Number : 6
Group Id : 92775926
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2



Section Id : 92775926

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775930
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9277591451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school library, the ratio of Science to English books is 10:13. If there are 400 Science books and due to increase in demand of Science books,
few Science books are added by school authority and the said ratio became 25:26. What is the number of Science books added?

Options :
1. * 25
2. % 26
3. % 52
4.+ 100

Question Number : 101 Question Id : 9277591451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qmmﬁwmuﬁ,ﬁm@r&%ﬁﬁ%mﬁmﬁw1o:13%luﬁ4ooﬁﬁﬂﬁmﬁ%eﬁ?ﬁﬁﬂﬁm1a‘fﬁnmﬁ%@$
HRUT, [ITerg USRI gRT $3 [a7H fhdTd Siie! 1% 8 3R Sad SITd 25:26 8 T ¢ | SIS! TS a5 $i fhdral &t IRed 31 62
Options :

1. % 25

2. % 26

3. % 52

4.9 100




Question Number : 102 Question Id : 9277591452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference in simple interest and compound interest on a certain sum of money in 2 years at 25 percent p.a. is Rs. 150. What is the sum?
Options :

1. % Rs. 5000

2. ¥ Rs. 2400

3. # Rs. 3600

4. % Rs. 2500

Question Number : 102 Question Id : 9277591452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 Tifa=rd ufd a9 oR 2 a6 # ueh AT SRR IR AR SO 3R Iehdfa saTel | 3R 150 ¥U3 § | SFRIR 31 82
Options :

1. % 5000 30

2. ¥ 2400 TYY

3. % 3600 $YY

4. % 2500 3T

Question Number : 103 Question Id : 9277591453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compound interest on Rs. 20000 in 2 years at 20 percent per annum, the interest being compounded half-yearly?
Options :

1. # Rs. 10000

2. % Rs. 9082

3. % Rs. 9282

4. % Rs. 10282



Question Number : 103 Question Id : 9277591453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 Tfa=Td ufd a8 IR 2 a9 F 20000 T9Y W I gl STl 71§, TG 1S HI fefaiities aehgia fbar S| 82
Options :

1. % 10000 ST

2. % 9082 ¥TY

3. 9282 30T

4. % 10282 309

Question Number : 104 Question Id : 9277591454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the compound interest on Rs. 14000 at 10 percent per annum for 2 years 6 months, compounded annually?
Options :

1. % Rs. 4857

2. % Rs. 4557

3. #® Rs. 3485

4. ¥ Rs. 3787

Question Number : 104 Question Id : 9277591454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

29 6 HEH & fore ufd af 10 UfI=Id IR 14000 ¥UA WR Ahqfa STl 41 ], IS affies Ihgia Bt &2
Options :

1. % 4857300

2. % 4557300

3. % 3485307

4. ¥ 378730

Question Number : 105 Question Id : 9277591455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A bus covers a certain distance on a highway road at a speed of 50 km per hour in 6 hours. To cover the same distance in 4(2/7) hours, at what
speed it must travel?

Options :

1. % 60 kmph
2. % 70 kmph
3. % 80 kmph
4. % 75 kmph

Question Number : 105 Question Id : 9277591455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH §9 6 ¢ | 50 km Ul 9 B1 A § T I/ TSP R TS Ffd gt qu wadt 81 4 (2/7) 9 B THM 2 a0 B & oG, 59 ol fvg
T Y = Ae

Options :

1. % 60 kmph

2. % 70 kmph

3. % 80 kmph

4. ® 75 kmph

Question Number : 106 Question Id : 9277591456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Train A travels 20 percent faster than train B. Both start from the point X at the same time and reach point Y 100 km away from X at the same
time. On the way, however, train A lost about 10 minutes while stopping at the stations. What is the speed of train B?

Options :

1. % 90 kmph
2. % 105 kmph
3. ¥ 100 kmph
4. % 110 kmph

Question Number : 106 Question Id : 9277591456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ST A TS B ¥ 20 IR S Aol G aact 81 g Uh Sl GO R g X A YE S 8 SR U I I IR X ¥ 100 km R g ¥
e Ugdd g | ST, IR |, TR IR Shd AT IAST A BT THT 10 e 31 30 81 Sl 81 XeTms! B &I 1fd 1 82

Options :

1. % 90 kmph

2. % 105 kmph

3. ¥ 100 kmph

4. % 110 kmph

Question Number : 107 Question Id : 9277591457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travelled a distance of 110 km in 11 hours. He travelled partly on foot at 6 km/hr and partly on bicycle at 14 km/hr. What is the distance
travelled on bicycle?

Options :

1. % 77 km
2. % 64 km
3. % 70 km
4. % 58 km

Question Number : 107 Question Id : 9277591457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Afad 11 9¢ H 110 km B &3 T BT & | I 3HiRIB TY F 6 km/hr U AT 1 3R 3D TT 14 km/hr J ATSIH A TR AT B |
Tsford TR 09 &1 718 g T 82

Options :

1. ¥ 77 km
2. % 64 km
3. % 70 km
4. % 58 km



Question Number : 108 Question Id : 9277591458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q and R can complete a piece of work in 20, 4 and 8 days respectively. Working together, In how many days they will complete the same
work?

Options :

1. % 2(1/17) days
2. % 2(6/17) days
3. % 1(1/40) days
4. % 7(1/40) days

Question Number : 108 Question Id : 9277591458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q 3R R HHRT: 20, 4 3R 8 f&AI T Uh B G R Uehdl § | Tb AT HTH PR, [ & T o IHH B &bl -1 i
Options :

1. % 201/17) faa

2. 2(6/17) &

3. % 1(1/40) f&a

4. % 7(1/40) fam

Question Number : 109 Question Id : 9277591459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 men can complete a work in 8 days and 12 children take 16 days to complete the work. How many days will 6 men and 12 children take to
complete the work?

Options :

1. % 6 days
2. % 10 days
3. ¥ 8 days
4. % 13 days



Question Number : 109 Question Id : 9277591459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Wsﬁﬁwmqﬂmm%aﬁv 12 o HTH DI RIERA T 16 &7 T &1 HTH I R B T 6 THT 3R 12 = fova fe
?

Options :

1. % ¢feT
2. % 10feq
3.« gfaA
4. % 13feq

Question Number : 110 Question Id : 9277591460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is 20 percent more efficient than B. How much time will they, working together, take to complete a job which X alone could have done in 10
days?

Options :

1. # 4(5/11)days
2. # 5(4/5)days
3. % 6(1/11)days
4. ¥ 5(5/11)days

Question Number : 110 Question Id : 9277591460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, B! gaT H 20 Ua=Id 31f% $ &1 d Th I H1H TR, T B4 DI IR 3 H, o= w0 o7, oy X srabat 10 el & & Gl
Yr?

Options :

1. % 4(5/11)feA

2. % 545

3. % 6(1/1D)feA

4.+ 5(5/11)feA




Question Number : 111 Question Id : 9277591461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the surface area of a sphere that has a radius of 10 mm?
Options :

1. % 1256 Sq. mm

2. % 1056 Sq. mm

3. % 998 Sq. mm

4. ¥ 858 Sq. mm

Question Number : 111 Question Id : 9277591461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TITcl &1 GBI &0 d o1 § forie! fe4T 10 mm 82
Options :

1. ¥ 1256 Sq. mm

2. % 1056 Sq. mm

3. % 998 Sq. mm

4. % 858 Sq. mm

Question Number : 112 Question Id : 9277591462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The radius of a cylinder is 10.5 cm and its curved surface area is 527.52 Sq. cm. What is the height of this cylinder? Take = as 3.14.
Options :

1. ¥ 6cm

2.% 8cm

3. % 9cm

4, % 12 cm

Question Number : 112 Question Id : 9277591462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FIdeR &1 B34 10.5 em © 3R THHT ab Y¥IT 8B 527.52 Sq. om & | 3 R 1 ST a1 82 1 BI 3.14 FEUH T |
Options :

1. % 6cm

2.% 8cm

3. % 9cm

4. % 12 cm

Question Number : 113 Question Id : 9277591463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid sphere of radius 25 cm is melted and recast into smaller solid cones each of radius 5 cm and height 2.5 cm. What are the number of cones
so formed?

Options :
1. #® 100
2. % 520
3. % 880
4. % 1000

Question Number : 113 Question Id : 9277591463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 om 0T & U 31 M & FIaamar SIdr 8 $iR Ul 5 cm 3591 3R 2.5 cm 18 & BIc 319 P | R F GIa ofld § | ST 7Y P
B T T 32

Options :

1. % 100

2. % 520

3. % 880

4. 1000

Question Number : 114 Question Id : 9277591464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the result of the 40 cricket matches played by a college cricket team. If they lost and drew equal number of matches. How
many matches they lost?

Total matches

Options :
1. % 10
2.¥ 12
3.% 8
4. % 16

Question Number : 114 Question Id : 9277591464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I1¢ PIadl fohdbe ¢ gRT W 71T 40 fhdbe A=l & URUMH o1 ST 81 Ife 3 8R 7T 3R H &1 GH T-AT U &1 3 fha 7 8R?




Options :
1. % 10
2.¥ 12
3.% 8
4. % 16

Question Number : 115 Question Id : 9277591465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart shows the result of a survey on students favourite activities at a college. If there are 2750 students in the college then, how many
students choose sports and music as their favourite activity in the college?



Favourite activities of
students

Options :
1. % 750
2. % 974
3. ¥ 1375
4. % 564

Question Number : 115 Question Id : 9277591465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 91 U hlaiel H B &I Gdcial ATl TR Teb Jdafur T U SRIdT g | TS hiaiel H 2750 BT &, o piael H [ S5 T 3R
et o1 ot yRictar Tafafy & & u § gd &2




Options :
1. % 750
2. % 974
3. ¥ 1375
4. % 564

Question Number : 116 Question Id : 9277591466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the data of population of different states of India in 2020. Rajasthan is 30 percent, Kerala is 8 percent, Punjab is 22
percent, Haryana is 12 percent, Odisha is 10 percent and Gujarat is 18 percent of the total population. If the total population of these 6 states is
4005000, then what will be the percentage of total number of females in Gujarat, Punjab and Kerala together to the total population of all given
states?

STATES NUMBER OF MALES :NUMBER OF FEMALES | LITERATE : ILLITERATE
RAJASTHAN 5:1 2:5
KERALA 3:4 5:1
PUNIAB 3:2 1:3
HARYANA 5:3 2:3
ODISHA 3:5 2:7
GUJARAT 3:1 3:5
Options :

1. ¥ 17.87 percent



2. % 24 percent
3. % 8 percent
4. % 24 8 percent

Question Number : 116 Question Id : 9277591466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 aferasT 2020 T YR & fAR Tl BT ST BT STl GRIT & | TSI 30 T=Td, et 8 Ui=rd, doie 22 Uf=rd, sRarr 12
g, SHfS= 10 Ufa=rd SR ToRTd &1 Hd SHEe 18 UidRId 81 3f 37 6 ISTl B d S-EE 4005000 &, o) T+ 3T 10 I0i &t
ST b 1Y ORI, USTS 3R HRel | Higclsii i el YBAT b1 Ua=Id T R

T QUi 1 & : aigensi it wEmn IR - e
A= 5:1 2:5
aﬂﬂ‘ 3:4 5:1
LE G 3:2 1:3
ghvamon §:3 2:3
aifEmm 3:5 2:7
BICEG) 3:1 3:5
Options :
1. ¥ 17.87 Ufa=Id
2. % 24 Yfa=Td
3. % g yfa=ma
4. % 24 8 UfA=Id

Question Number : 117 Question Id : 9277591467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the number of cars manufactured by two companies over the years 2011 to 2016. What is the difference between total
manufacturing of the two companies?



mCompany A ' Company B
00O -
k- ] 5800
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2011 2012 2018 2014 2015
Year
Options :
1. # 1800
2. % 1400
3. #1650
4.+ 1600

Question Number : 117 Question Id : 9277591467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad arw avf 2011 § 2016 9 & HUfE! gR1 Fffd HRI @1 T & gxidr 81 gF dufal & o fafmfo & & sk | g2
WHTHIA w HUHT B

R e ot
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§
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018 012 Z0uE 014 2015 2006

Options :
1. % 1800



2. % 1400
3. % 1650
4. ¥ 1600

Question Number : 118 Question Id : 9277591468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the data of production of rice (in tonnes) by three states of India over the years 2016 to 2019. What is the ratio of the
total production of Bihar in the period of 2016 to 2018 to the total production of Karnataka in the period of 2017 to 2019?

m U.P. m Bihar m Karnataka

16 16
15 15

=
[
i

Production Of Rice

bthhEn:

2016 2017 2018 2019
Year

Options :

1. ¥ 19:23
2. % 39:46
3. % 23:19
4. % 13:23

Question Number : 118 Question Id : 9277591468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad 9% 2016 § 2019 T&F HRA & IIH ITT! §RT T (€ H) & IdTGH & b S| B SRIAT 1 2016 B 2018 FI 3y H fgR &
F IATGH BT 2017 H 2019 P A H HlCH & Hd IdTG BT U HT 52




FIEGEI RIS

2016 X7 2018 2019

Options :

1.+ 19:23
2. % 39:46
3. % 23:19
4. % 13:23

Question Number : 119 Question Id : 9277591469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the fixed annual rate of interest of two different finance companies over the years 1990 to 1995 on the amount
invested by investors. A sum of Rs. 880000 was invested in Company Y in the year 1992 for one year. How much more interest would have been



earned if the sum was invested in Company X?

=3 —Company X —Company Y
7
}l -
IR
o
a
B e
-
g
3 4
z -
1 4
0
1990 1591 15992 1993 1594 1595
Year
Options :
1. ® Rs. 6800
2. ¥ Rs. 4400
3. # Rs. 5200
4. # Rs. 8000

Question Number : 119 Question Id : 9277591469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad I fawre! gRT o= &1 18 TRT IR a¥ 1990 / 1995 A &l SET-3@ fad Huf-al &t st &t MURd a1fties a3 &1 gwifar
21T a8 & o1, aef 1992 H =T v 7 880000 FUT &1 MR BT =1 fomam T um | afe ot X 7 iR o1 oy fvar man grar o feam




T PI g

1990 1991 1992 1953 19594 1335

Options :

1. % 6800 3T
2. ¥ 4400 3TY
3. % 5200 390
4. % 8000 3T

Question Number : 120 Question Id : 9277591470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph shows the production of wheat (in 1000 tonnes) in India over the years. In how many of the given years was the production of
wheat more than the average production of all the eight years?



E

75

a;ﬁ

35

5

Production (in thousand tonnes)
(=)
(=]

2000 2001 2002 2003 2004 2005 2008 2007
Year

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 120 Question Id : 9277591470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR U IS $S a0 & HRA H 718 & IATG (1000 T H) DI GTdT 5 | AU W anf # 3 foram 9 & g o1 Icre- 9t 3116 auf & Sfiqd
JadTe ¥ 3ffereh U1
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Options :
1. %1
2. %2
3. %3
4. ¥ 4
General English1
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Group Id : 92775927
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Section Id : 92775927

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775931
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9277591471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

His approach towards/ his training has recently been/ rebukable careless.
Options :

1. % His approach towards

2. % his training has recently been

3. ¥ rebukable careless.

4. ¥ No error

Question Number : 121 Question Id : 9277591471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

His approach towards/ his training has recently been/ rebukable careless.
Options :

1. # His approach towards



2. # his training has recently been
3. ¥ rebukable careless.

4. % No error

Question Number : 122 Question Id : 9277591472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

That little ingrate doesn't/ understand and appreciate/ the privilege nature of his lineage.
Options :

1. * That little ingrate doesn't

2. ® understand and appreciate

3. % the privilege nature of his lineage.

4. % No error

Question Number : 122 Question Id : 9277591472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

That little ingrate doesn't/ understand and appreciate/ the privilege nature of his lineage.
Options :

1. # That little ingrate doesn't

2. # understand and appreciate

3. % the privilege nature of his lineage.

4. % No error

Question Number : 123 Question Id : 9277591473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The sheer colossal that he/ was, made it almost impossible/ to get through him.
Options :

1. ¥ The sheer colossal that he

2. # was, made it almost impossible

3. % to get through him.

4, % No error

Question Number : 123 Question Id : 9277591473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The sheer colossal that he/ was, made it almost impossible/ to get through him.
Options :

1. ¥ The sheer colossal that he

2. # was, made it almost impossible

3. % to get through him.

4. % No error

Question Number : 124 Question Id : 9277591474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The remnants of the nuclear/ fall-out left the entire city of/ Hiroshima, a ghost town.
Options :

1. # The remnants of the nuclear

2. % fall-out left the entire city of

3. * Hiroshima, a ghost town.



4. % No error

Question Number : 124 Question Id : 9277591474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The remnants of the nuclear/ fall-out left the entire city of/ Hiroshima, a ghost town.
Options :

1. # The remnants of the nuclear

2. # fall-out left the entire city of

3. % Hiroshima, a ghost town.

4. ¥ No error

Question Number : 125 Question Id : 9277591475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

For a very long it was said that ("we live and die by the values we possess".)
Options :

1. # "we lived and died by the values we possessed."

2. # we live and die by the values we possessed

3. % we lived and died by the values we possessed.

4. # No correction required

Question Number : 125 Question Id : 9277591475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



For a very long it was said that ("we live and die by the values we possess".)
Options :

1. #® "we lived and died by the values we possessed."

2. % we live and die by the values we possessed

3. ¥ we lived and died by the values we possessed.

4. ® No correction required

Question Number : 126 Question Id : 9277591476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The concurrent nature (of existence of the subatomic particles) is what makes them so interesting.
Options :

1. ¥ of the existence of the subatomic particles

2. % of an existence of the subatomic particles

3. # of existing of the subatomic particles

4. # No correction required

Question Number : 126 Question Id : 9277591476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The concurrent nature (of existence of the subatomic particles) is what makes them so interesting.
Options :

1. ¥ of the existence of the subatomic particles

2. # of an existence of the subatomic particles

3. # of existing of the subatomic particles

4. ® No correction required



Question Number : 127 Question Id : 9277591477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Only as a last resort, (the officers allowed to use lethal force).
Options :

1. % the officers were using lethal force

2. ¥ the officers were allowed to use lethal force.

3. % the officers should allow to use lethal force.

4. # No correction required

Question Number : 127 Question Id : 9277591477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Only as a last resort, (the officers allowed to use lethal force).
Options :

1. # the officers were using lethal force

2. ¥ the officers were allowed to use lethal force.

3. % the officers should allow to use lethal force.

4. ¥ No correction required

Question Number : 128 Question Id : 9277591478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The crisis of the pandemic (could have been prevented, had everyone just taken) the right preventive measures.



Options :

1. #® could had been prevented if everyone just took

2. % could have been prevented, had everyone has just taken
3. # could have been preventing if everyone just had taken

4. ¥ No correction required

Question Number : 128 Question Id : 9277591478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The crisis of the pandemic (could have been prevented, had everyone just taken) the right preventive measures.
Options :

1. # could had been prevented if everyone just took

2. # could have been prevented, had everyone has just taken

3. # could have been preventing if everyone just had taken

4. ¥ No correction required

Question Number : 129 Question Id : 9277591479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

His place was in the team after he displayed his explosive batting style.

Options :

1. ¥ cemented
2. % cement
3. ® affect

4. ® belittled

Question Number : 129 Question Id : 9277591479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

His place was in the team after he displayed his explosive batting style.

Options :

1. ¥ cemented
2. # cement
3. # affect

4. # belittled

Question Number : 130 Question Id : 9277591480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks with appropriate word.

If the anesthesia is not properly, he might wake up in the of the surgery.

Options :

1. # administer/during

2. ¥ administered/ middle
3. # perpetuated/ start

4. # perpetuated/ middle

Question Number : 130 Question Id : 9277591480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks with appropriate word.

If the anesthesia is not properly, he might wake up in the of the surgery.

Options :

1. * administer/during

2. ¥ administered/ middle
3. ¥ perpetuated/ start

4. % perpetuated/ middle



Question Number : 131 Question Id : 9277591481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks with appropriate word.

He was asleep, until the sound of the sirens and alarms woke him up

Options :

1. # entirely/ lethargically
2. # amidst/ mellifluously
3. % fast/ incandescently
4. ¥ sound/ abruptly

Question Number : 131 Question Id : 9277591481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks with appropriate word.

He was asleep, until the sound of the sirens and alarms woke him up

Options :

1. % entirely/ lethargically
2. % amidst/ mellifluously
3. # fast/ incandescently
4. ¥ sound/ abruptly

Question Number : 132 Question Id : 9277591482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

From cradle to the grave, he a man true to his words.

Options :

1. ¥ remained



2. % refrained
3. # engaged

4. % renamed

Question Number : 132 Question Id : 9277591482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

From cradle to the grave, he a man true to his words.

Options :

1. ¥ remained
2. % refrained
3. ¥ engaged

4. % renamed

Question Number : 133 Question Id : 9277591483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

The last man standing was , a fully paid vacation to Las Vegas.

Options :

1. # awarded
2. ¥ rewarded
3. ® presented
4. % allotted

Question Number : 133 Question Id : 9277591483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.



The last man standing was , a fully paid vacation to Las Vegas.

Options :

1. % awarded
2. ¥ rewarded
3. ® presented
4. % allotted

Question Number : 134 Question Id : 9277591484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

It was a decision of the team management committee to keep him out.

Options :

1. ¥ unanimous
2. # gsolemn

3. % arcane

4. # illicit

Question Number : 134 Question Id : 9277591484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

It was a decision of the team management committee to keep him out.

Options :

1. ¥ unanimous
2. # solemn

3. % arcane

4. # illicit

Question Number : 135 Question Id : 9277591485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

in biotechnology and medicine have resulted in higher expectancy rate and lower mortality rate.

Options :

1. # Arrogate

2. # Advanced

3. % Advancements

4. % Aversions

Question Number : 135 Question Id : 9277591485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

in biotechnology and medicine have resulted in higher expectancy rate and lower mortality rate.

Options :

1. # Arrogate

2. % Advanced

3. % Advancements

4. % Aversions

Question Number : 136 Question Id : 9277591486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Highly influential in introducing Indian culture to the West and vice versa, and also generally regarded as the outstanding creative artist of the
early 20th-century India.

P. He introduced new prose and verse forms to along with the use of colloquial language into Bengali literature, thereby freeing it from traditional
models based on classical Sanskrit.

Q. The son of the religious reformer Debendranath Tagore, Rabindranath Tagore was a Bengali poet, short-story writer, song composer,



playwright, essayist, and painter.
R. He began to write verses, and, after incomplete studies in England in the late 1870s, he returned to India.
S. In 1913 he became the first non-European to receive the Nobel Prize for Literature.

There he published several books of poetry in the 1880s and completed Manasi (1890), a collection that marks the maturing of his genius. It
contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political satire that was
critical of his fellow Bengalis.

Options :

1. ¥ QPRS
2. % QPSR
3. % SQPR
4. % PQRS

Question Number : 136 Question Id : 9277591486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Highly influential in introducing Indian culture to the West and vice versa, and also generally regarded as the outstanding creative artist of the
early 20th-century India.

P. He introduced new prose and verse forms to along with the use of colloquial language into Bengali literature, thereby freeing it from traditional
models based on classical Sanskrit.

Q. The son of the religious reformer Debendranath Tagore, Rabindranath Tagore was a Bengali poet, short-story writer, song composer,
playwright, essayist, and painter.

R. He began to write verses, and, after incomplete studies in England in the late 1870s, he returned to India.
S. In 1913 he became the first non-European to receive the Nobel Prize for Literature.
There he published several books of poetry in the 1880s and completed Manasi (1890), a collection that marks the maturing of his genius. It

contains some of his best-known poems, including many in verse forms new to Bengali, as well as some social and political satire that was
critical of his fellow Bengalis.

Options :



1. ¥ QPRS
2. % QPSR
3. % SQPR
4. % PQRS

Question Number : 137 Question Id : 9277591487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In a shocking

P. the long awaited verdict
Q. the unexpected happened;
R. turn of events,

S. was delivered today

by the supreme court.

Options :

1. % RPQS
2. % RQPS
3. ¥ RPSQ
4. % RQSP

Question Number : 137 Question Id : 9277591487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In a shocking

P. the long awaited verdict
Q. the unexpected happened;
R. turn of events,

S. was delivered today

by the supreme court.



Options :

1. # RPQS
2. ¥ RQPS
3. ¥ RPSQ
4. ¥ RQSP

Question Number : 138 Question Id : 9277591488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He was never a hardworking student
P.so it was not a surprise for any of us
Q. in the examinations,

R. he hadn't studied at all

S.to watch him not do well;

through out the year.

Options :

1. ¥ PSQR

2. % PQRS

3. ¥ PSRQ

4. % PRQS

Question Number : 138 Question Id : 9277591488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

He was never a hardworking student
P.so it was not a surprise for any of us
Q. in the examinations,

R. he hadn't studied at all



S.to watch him not do well;
through out the year.

Options :

1. ¥ PSQR
2. % PQRS
3. ¥ PSRQ
4. % PRQS

Question Number : 139 Question Id : 9277591489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Criminal identification by means of fingerprints is one of the most potent factors in obtaining the apprehension of fugitives who might otherwise
escape arrest and continue their criminal activities indefinitely.

P. The individual who repeatedly violates the law finds it impossible to pose successfully as a first or minor offender.

Q. This of course results in the imposition of more equitable sentences by the judiciary.

R. In addition, this system of identification enables the prosecutor to present his case in the light of the offender's previous records.
S. This type of identification also makes possible an accurate determination of the number of previous arrests and convictions.

It also provides the probation officers, parole board and the governor with definite information upon which to base their judgement in dealing
with the criminals in their jurisdictions.

Options :

1. # RQSP
2. % SQRP
3. % SQPR
4. % QPRS

Question Number : 139 Question Id : 9277591489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Criminal identification by means of fingerprints is one of the most potent factors in obtaining the apprehension of fugitives who might otherwise
escape arrest and continue their criminal activities indefinitely.

P. The individual who repeatedly violates the law finds it impossible to pose successfully as a first or minor offender.

Q. This of course results in the imposition of more equitable sentences by the judiciary.

R. In addition, this system of identification enables the prosecutor to present his case in the light of the offender's previous records.
S. This type of identification also makes possible an accurate determination of the number of previous arrests and convictions.

It also provides the probation officers, parole board and the governor with definite information upon which to base their judgement in dealing
with the criminals in their jurisdictions.

Options :

1. % RQSP
2. % SQRP
3. ¥ SQPR
4. % QPRS

Question Number : 140 Question Id : 9277591490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Imperious
Options :

1. # Unofficial
2. % Peremptory
3. ¥ Meek

4. % Subdued



Question Number : 140 Question Id : 9277591490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning (ANTONYM) to the word given below.

Imperious
Options :

1. * Unofficial
2. % Peremptory
3. ¥ Meek

4. * Subdued
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Question Number : 141 Question Id : 9277591491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Quotidian
Options :

1. # Mandatory
2. % Normal

3. % Sporadic
4. # Obligatory

Question Number : 141 Question Id : 9277591491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

Quotidian
Options :

1. # Mandatory
2. % Normal

3. % Sporadic
4. % Obligatory

Question Number : 142 Question Id : 9277591492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (ANTONYM) to the word given below



Rancorous
Options :

1. ¥ Amicable
2. % Swamped
3. % Malefic
4. * Tlliterate

Question Number : 142 Question Id : 9277591492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (ANTONYM) to the word given below

Rancorous
Options :

1. ¥ Amicable
2. % Swamped
3. % Malefic
4. # Illiterate

Question Number : 143 Question Id : 9277591493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Rabble

Options :

1. ¥ Assemblage
2. % Quiet

3. * Noisy

4. % Priest

Question Number : 143 Question Id : 9277591493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Rabble

Options :

1. ¥ Assemblage
2. % Quiet

3. % Noisy

4. % Priest

Question Number : 144 Question Id : 9277591494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Animadiversion

2. # Animedversion

3. ® Animadeversion

4. % Animadversion

Question Number : 144 Question Id : 9277591494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Animadiversion

2. % Animedversion

3. ¥ Animadeversion

4. ¥ Animadversion

Question Number : 145 Question Id : 9277591495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Hedgemonize

2. % Hegdemonise

3. % Hegemonnise

4. ¥ Hegemonize

Question Number : 145 Question Id : 9277591495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Hedgemonize

2. % Hegdemonise

3. % Hegemonnise

4. ¥ Hegemonize

Question Number : 146 Question Id : 9277591496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Tyrennise

2. % Tyrannize

3. # Tyranize

4. # Tyranise

Question Number : 146 Question Id : 9277591496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Tyrennise

2. % Tyrannize

3. # Tyranize

4. # Tyranise

Question Number : 147 Question Id : 9277591497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Domineering

2. % Domoneering

3. * Dominering

4. % Dominiering

Question Number : 147 Question Id : 9277591497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Domineering

2. % Domoneering

3. % Dominering

4. ¥ Dominiering

Question Number : 148 Question Id : 9277591498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



Fits and stars
Options :

1. ¥ Summary

2. # Be in difficulty
3. ¥ Irregularly

4. ¥ Everywhere

Question Number : 148 Question Id : 9277591498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Fits and stars
Options :

1. % Summary

2. # Be in difficulty
3. ¥ TIrregularly

4. ¥ Everywhere

Question Number : 149 Question Id : 9277591499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Run in the same groove
Options :

1. # Simplify the producers
2. # A widely debated issue
3. % Advance in harmony

4. % To muse on in an aimless manner

Question Number : 149 Question Id : 9277591499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Run in the same groove
Options :

1. #® Simplify the producers
2. % A widely debated issue
3. % Advance in harmony

4. % To muse on in an aimless manner

Question Number : 150 Question Id : 9277591500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A man of weight

Options :

1. ¥ A weak man

2. % A man of importance
3. # A fat person

4. ® An indecisive person

Question Number : 150 Question Id : 9277591500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

A man of weight

Options :

1. # A weak man

2. % A man of importance
3. #® A fat person

4. % An indecisive person



Question Number : 151 Question Id : 9277591501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Queer somebody's pitch
Options :

1. # To come out successfully
2. ¥ Upset one's plans

3. % A secret plan

4. # To make an exaggerated statement

Question Number : 151 Question Id : 9277591501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Queer somebody's pitch
Options :

1. # To come out successfully
2. % Upset one's plans

3. % A secret plan

4. % To make an exaggerated statement

Question Number : 152 Question Id : 9277591502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

To forbid something, especially by law
Options :

1. # Quarantine



2. # Quench
3. % Propound
4. ¥ Proscribe

Question Number : 152 Question Id : 9277591502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

To forbid something, especially by law
Options :

1. # Quarantine

2. % Quench

3. # Propound

4. ¥ Proscribe

Question Number : 153 Question Id : 9277591503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Impossible to deny or disapprove
Options :

1. % Assailable

2. ¥ Incontrovertible

3. # Dubitable

4. % Frangible

Question Number : 153 Question Id : 9277591503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below



Impossible to deny or disapprove
Options :

1. % Assailable

2. ¥ Incontrovertible

3. # Dubitable

4. % Frangible

Question Number : 154 Question Id : 9277591504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Optimistic or positive, especially in an apparently bad or difficult situation
Options :

1. # Sanguinary

2. ¥ Sanguine

3. % Salutary

4. # Solace

Question Number : 154 Question Id : 9277591504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Optimistic or positive, especially in an apparently bad or difficult situation
Options :

1. # Sanguinary

2. ¥ Sanguine

3. % Salutary

4. % Solace

Question Number : 155 Question Id : 9277591505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Not revealing one's thoughts or feelings readily.
Options :

1. % Unfathomable

2. % Restive

3. % Ribald

4. ¥ Reticent

Question Number : 155 Question Id : 9277591505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Not revealing one's thoughts or feelings readily.
Options :

1. % Unfathomable

2. % Restive

3. ¥ Ribald

4. ¥ Reticent

Sub-Section Number : 2
Sub-Section Id : 92775933
Question Shuffling Allowed : Yes

Question Id : 9277591506 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The biggest house of cards, the longest tongue and, of course, the tallest man- these are among the thousands of records logged in the famous
Guinness Book of Records. Created in 1955 after a debate concerning Europe’s fastest game bird, what began as a marketing tool sold to pub
landlords to promote Guinness, an Irish drink, became the bestselling copyright title of all time (a category that excludes book such as the Bible



and the Quran). In time, the book would sell 120 million copies in over 100 countries -- quite a leap from its humble beginnings.

In its early years, the book set its sight on satisfying man's innate curiosity about the natural world around him. Its two principal fact finders,
twins Norris and Ross McWhirter, scoured the globe to collect the empirical facts. It was their task to find and document aspects of life that can
be sensed or observed, things that can be quantified or measured -- but not just any things. They were only interested in superlatives; the biggest
and the best.

In its latest incarnation, the book has found a new home on the Internet. No longer restricted to the confines of physical paper, the Guinness
World Records website contains seemingly innumerable facts concerning such topics as the most powerful combustion engine or the world's
longest train. What is striking, however, is that such facts are found sharing a page with the record of the heaviest train to be pulled with a beard.
While there is no denying that each of these facts has its own individual allure, the latter represents a significant deviation from the education-
oriented facts of earlier editions. Perhaps, there is useful knowledge to be gleaned regarding the tensile strength of a beard, but this seems to cater
to an audience more interesting in seeking entertainment than education.

Originating as simple bar book, the Guinness Book of Records has evolved over decades to provide insight into full spectrum of modern life.
And although one maybe more likely now to learn about the widest human mouth than the highest number of causalities in a single battle of the
Civil War, the Guinness World Records website offers a telling glimpse into the future of fact finding and record recording.

Sub questions

Question Number : 156 Question Id : 9277591507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What prompted the creation of the Guinness Book of Records?

Options :

1. % To present achievements and records held by individuals in the most precise manner.
2. ¥ A debate concerning Europe's fastest game bird.

3. # The record for the world's biggest house of cards.

4. % A fun read for the pub landlords

Question Number : 157 Question Id : 9277591508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did Norris and Ross collect their empirical facts from?
Options :

1. ¥ From across the continent of U.K.

2. ® From locations accessible to them



3. # From their local town

4. ¥ From across the world

Question Number : 158 Question Id : 9277591509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # The latest editions of the Guinness can also be found on internet.

2. # The goal of the McWhirter brothers was to observe and record the best and the biggest things.

3. ¥ The Guinness Book of World Records was created in 1955 on the account of measuring the biggest house of cards.

4. # Tt is striking that the fact of the longest train is found on the same page as the world's heaviest train being pulled by beard.

Question Number : 159 Question Id : 9277591510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the passage imply that the Guinness seems to cater to an audience more interested in seeking entertainment than education, today?
Options :

1. ¥ Because the book has taken significant deviation from its education oriented facts of earlier editions.

2. % Because the book has lost it's education orientation and now seeks to cater only entertainment.

3. # Because it is no more a simple bar book.

4. # Because it no more oriented towards recording the best and the biggest

Question Number : 160 Question Id : 9277591511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where does the name Guinness come from?
Options :

1. ¢ Irish drink

2. ® The name of a Irish pub

3. % Holy text like Bible and Quran

4. ® The first name of the inventor of the book.



Question Id : 9277591506 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

The biggest house of cards, the longest tongue and, of course, the tallest man- these are among the thousands of records logged in the famous
Guinness Book of Records. Created in 1955 after a debate concerning Europe’s fastest game bird, what began as a marketing tool sold to pub
landlords to promote Guinness, an Irish drink, became the bestselling copyright title of all time (a category that excludes book such as the Bible
and the Quran). In time, the book would sell 120 million copies in over 100 countries -- quite a leap from its humble beginnings.

In its early years, the book set its sight on satisfying man's innate curiosity about the natural world around him. Its two principal fact finders,
twins Norris and Ross McWhirter, scoured the globe to collect the empirical facts. It was their task to find and document aspects of life that can
be sensed or observed, things that can be quantified or measured -- but not just any things. They were only interested in superlatives; the biggest
and the best.

In its latest incarnation, the book has found a new home on the Internet. No longer restricted to the confines of physical paper, the Guinness
World Records website contains seemingly innumerable facts concerning such topics as the most powerful combustion engine or the world's
longest train. What is striking, however, is that such facts are found sharing a page with the record of the heaviest train to be pulled with a beard.
While there is no denying that each of these facts has its own individual allure, the latter represents a significant deviation from the education-
oriented facts of earlier editions. Perhaps, there is useful knowledge to be gleaned regarding the tensile strength of a beard, but this seems to cater
to an audience more interesting in seeking entertainment than education.

Originating as simple bar book, the Guinness Book of Records has evolved over decades to provide insight into full spectrum of modern life.
And although one maybe more likely now to learn about the widest human mouth than the highest number of causalities in a single battle of the
Civil War, the Guinness World Records website offers a telling glimpse into the future of fact finding and record recording.

Sub questions

Question Number : 156 Question Id : 9277591507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What prompted the creation of the Guinness Book of Records?

Options :

1. # To present achievements and records held by individuals in the most precise manner.
2. ¥ A debate concerning Europe's fastest game bird.

3. % The record for the world's biggest house of cards.



4. ® A fun read for the pub landlords

Question Number : 157 Question Id : 9277591508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did Norris and Ross collect their empirical facts from?
Options :

1. #® From across the continent of U.K.

2. % From locations accessible to them

3. # From their local town

4. ¥ From across the world

Question Number : 158 Question Id : 9277591509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # The latest editions of the Guinness can also be found on internet.

2. # The goal of the McWhirter brothers was to observe and record the best and the biggest things.

3. ¥ The Guinness Book of World Records was created in 1955 on the account of measuring the biggest house of cards.

4. ® Tt is striking that the fact of the longest train is found on the same page as the world's heaviest train being pulled by beard.

Question Number : 159 Question Id : 9277591510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why does the passage imply that the Guinness seems to cater to an audience more interested in seeking entertainment than education, today?
Options :

1. ¥ Because the book has taken significant deviation from its education oriented facts of earlier editions.

2. % Because the book has lost it's education orientation and now seeks to cater only entertainment.

3. # Because it is no more a simple bar book.

4. # Because it no more oriented towards recording the best and the biggest

Question Number : 160 Question Id : 9277591511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where does the name Guinness come from?
Options :

1. ¥ Irish drink

2. # The name of a Irish pub

3. % Holy text like Bible and Quran

4. % The first name of the inventor of the book.
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Question Number : 161 Question Id : 9277591512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR fawel A 9, 39 fawed &1 99+ B3 N foba1 & W aren It faswed gl
39 U feraamn|

Options :

1. % QdpIicid fopdl
2. ¢ WRune o
3. % Furd foban
4. % Tchfered fobar

Question Number : 161 Question Id : 9277591512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRuferiRad uy #, IR faeeal A T, 39 fawed &1 99+ B3 &Y fobar & W arer It fased 8|
I U feraamn|

Options :

1. # gdap1ieres fopd
2.« IR o
3. % AHYTd fobar
4, % qThIicidb fobar

Question Number : 162 Question Id : 9277591513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad vy H, IR fadedl # 9, 39 fdhed &1 =99 3 il {GT T da1e & T 3feqd & We &1 gl f[ddbed 5|
g faT R BT T |

Options :

1. « foparfa=yur 3y




2. % HTINYD Y
3. # fquqarfeelyes sroqg
4. % AU YT YD 3y

Question Number : 162 Question Id : 9277591513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad Uy &, IR fadwedl § 9, 39 fadhed &1 I8 H< off [T T a1 & oY 31qd & Ug &1 ¥o! faded 8|
I8 a7 WR B HR1 @

Options :

1. ¢ fohaTfa=Ie T 3feuy

2. % JUIIYD 3y

3. % fquqifadius sy

4. % GOEIYGIV SIS D 3oy

Question Number : 163 Question Id : 9277591514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRed Uy &, IR fawedl § 9, 39 fadhed &1 98 $1 off HIadrad 41l & el [ddHed ol g |
Options :

1. = Jg¥di

2. ¥ 3RIY

3. % 9IS

4. % WY

Question Number : 163 Question Id : 9277591514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeedl ° T, 39 ey &1 Tu &L S HIgdTas U1 1 9g! faeed T8l g |

Options :
1. % gydr




2. Y
3. % AS

4. % Y

Question Number : 164 Question Id : 9277591515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8§, IR fawedl & 9, 39 f[ddhed &1 90 o Sl a1 & e &1 Fel [aded 3l
o B 56 IR T g

Options :

1. % fAaE®

2. % IR qTIH

3. % JIqH 3N

4. ¢ YT draH

Question Number : 164 Question Id : 9277591515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 8§, IR fawedl & 9, 39 f[ddhed &1 999 o Sl 991 & e &1 96! [aded 3l
o H 2 R gl

Options :

1. % fASara®

2. % R I

3. % ITHIBY

4. ¢ YT dEID

Question Number : 165 Question Id : 9277591516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafied oy o, IR fawed! & 9, 39 faded &1 997 &% ol HIg® B U U Xeg & SR fARw0r & Ag are fadmed gl
(@%) TGH TaeR I HA 5|




Options :

1. ¢ QoD

2. % 3ffAfYd ufAm a®
3. % Y deamara®

4, % UMD

Question Number : 165 Question Id : 9277591516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fomddl & 9, 39 fdeed &1 98- 3 ol HIg® H AU U e o 3UR ARV & W aral fadwed 81|
(d%) 3MGH TIER 4 H 8|
Options :

1. ¢ QoD

2. % AT gRHT draH
3. % fAfgq G=amaks

4. % TUEAAD

Question Number : 166 Question Id : 9277591517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed oy o, IR fawed! & 9, 39 [9ded &1 997 &< ol o1l Xeg &I Tg! faded gl
Options :

1. % TR

2. % gHeHl

3. ¥ YgiH

4. % fUq

Question Number : 166 Question Id : 9277591517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufefead uy o, IR fapeal 7 T, 39 Ay &1 T899 B o) ST Ueg BT el [abed gl




Options :

1. % TR

2. % ghHeHl
3. ¥ YgiH
4. % fUq

Question Number : 167 Question Id : 9277591518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad uy & IR fowedi & T, 3T fashey &1 w9 &3 O AT TN eg & fore g8t pHeRo gAY & faurg &1 fasea gl

Options :

1. % SE DI adl

2. ¥ S8 =4I Al
3. % g 3R T
4. % Sgg N AT

Question Number : 167 Question Id : 9277591518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed uy d, IR fowmedl § 9, 39 faweu &1 997 &3 Sl AU TN Yeg & foll 98t HHUYRU 99N o 398 &1 fdwea gl

Options :

1. % g Pl aal

2. ¢ g Ul Al
3. % g 3R Tl
4. % Sg g N AT

Question Number : 168 Question Id : 9277591519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



%ﬂﬁaﬁr@ﬁwﬁ,wﬁﬁq’fﬁﬁ,wﬁwwmwd P Sl foU U Teg BT ddH U Bl |

Options :

1. ¢ Yfcragit
2. % fufyer
3. % URepc

4. % TR

Question Number : 168 Question Id : 9277591519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬁa@@awﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁﬁmwwwmw@

Options :

1. ¢ Yfcrait
2. % Ui
3. % URgpe

4. % T¥XR

Question Number : 169 Question Id : 9277591520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁa@r@au&rﬁ,wﬁwﬁﬁ@r,wﬁmwwwﬂ B N U TN Weg & T Weg T et [dheu 781 § |

Options :

1. % Tk
2. ¢ Buym
3. % JHI

4. % difq

Question Number : 169 Question Id : 9277591520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁa@r@au&rﬁ,wﬁwﬁﬁ@r,wﬁmwwwﬂ B S U TN Weg & TaTIaTE! Weg T et fdheu 781 8 |

Options :

1. % Tk
2. ¢ oy
3. % JHI

4. % difq

Question Number : 170 Question Id : 9277591521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy A, IR el 7 9, 39 fawcu o1 97 &8 ot fadiA Weg &1 a9 331 faheu 3|
diad

Options :

1. % dhgldg

2. % dglyd

3. ¢ fadfed

4. % ThAd

Question Number : 170 Question Id : 9277591521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafad oy 8§, IR Aol § 4, 39 f3eed &1 Ta9 o3 S fIdH e &1 Jod 33T fdbeu 21
diad

Options :

1. % ohgleg

2. % hglyd

3. ¢ fadfad



4. ® TpfAd

Question Number : 171 Question Id : 9277591522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy #, IR Al A 9, 39 I8! f[dwed &1 I B3 Sl ITaiRN & ol U e, &1 f[ddhed gl
Sl 99 1Y YHYAS Sl &l
Options :

Question Number : 171 Question Id : 9277591522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafered Uy #, IR fadedl § 9, 39 gl [dhed o1 98- B Sl ITeiil o {o1T U Yeg b1 fddbed gl
o GaP 1Y YAYS e Serar &l

Options :

Question Number : 172 Question Id : 9277591523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed vy o, 9R faded! ¥ 9, 39 Ug! faded &1 99 B Sl U T4 2eg & Ta! 3 &1 Ifrd fadbey &l
3fafy

Options :

1. % HIYT




2. % ®M
3. ¥ Qg
4. % GIRT

Question Number : 172 Question Id : 9277591523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ@au&rﬁ,mﬁﬁﬁ@r,ww faded &1 Tg9 B Sl 4T T Vst & Tet 3 &1 Ifad fawed 711

Options :
1. # HNT
2. % R4
3. qHY
4. % QI

Question Number : 173 Question Id : 9277591524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § 9, 39 98! fawed &1 79+ &3 ot Rad R & ot Iuged Uss &1 Ual faweu g |
oA 4t fp EEHEGIEGI

Options :

1. % GStd

2. ¥ 8RR

3. % 3O
4. % HgId

Question Number : 173 Question Id : 9277591524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed Uy & IR fawedl 8 9, 39 el famed &1 997 & Sl Rad RIF & o Sugad e &1 el [dhed § |
iR ot fobar= EREIRGI




Options :

1. % Sid

2. ¥ 8RR

3. % 3O
4. % Hgd

Question Number : 174 Question Id : 9277591525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawent § 9, 39 fawey &1 7o &3 Sl Y e &1 Ta! fAwea 71
Options :

1.« A

2. & YA

3. % AYgYdq

4, % AHYYAq

Question Number : 174 Question Id : 9277591525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off G Teg B el [dhed g
Options :

1.« I

2. % A

3. % AYgY+q

4, % AYYdq

Question Number : 175 Question Id : 9277591526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § 9, 39 fawed &1 999 &3 o Y Ve &1 Tal [dbed 7

Options :




1. % 919G
2. ¥ [I%g
3. % fdoqy
4. % fa3eq

Question Number : 175 Question Id : 9277591526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8§, IR fawedl & 9, 39 f[ddhed &1 909 o Il YG Weg T ol [ddhed o
Options :

1. % 9o

2. ¢ fa3g

3. % faoqy

4. % faoe

Question Number : 176 Question Id : 9277591527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uy H, IR el # 9, 39 ey &1 7= &% Sl 3T U Wreg & FATI 2o o1 fahey T8t 81

%
Options :
1. % X[ch
2. % R
3. ¢ el
4. % gIUfd

Question Number : 176 Question Id : 9277591527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad vy 8, IR fawedl & 9, 39 fadhed &1 90 o Al f4T U e & JHMTT 2eg &1 fadbed 161 5
G -




Options :
1. % X[ch
2. ®
3. ¢ XTeilg
4. % JRUfd

Question Number : 177 Question Id : 9277591528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁuﬁﬁau&rﬁ,wﬁwﬁﬁ@r,ww e &1 I B ol faU TN Weg-gH & 31 &7 gl fadhed 31|
R SR YD

Options :

1. % Jd AR RR
2. ¢ S IR AT
3. % S 3R AfeRT
4. % TN 3R 99

Question Number : 177 Question Id : 9277591528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ﬁaﬁ;ﬁ%&wﬁ,wﬁﬂﬁ@r,ww el T 99 B Sl faU U Wsg-gH & 31 &1 el fddbed gl
RP SR P

Options :

1. % Id 3R RR
2. ¢ Sl SR AW
3. % S 3R AfexT
4. % AT 3R I

Question Number : 178 Question Id : 9277591529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad vy A, IR fAwddl 1 B, 39 fawey &1 T &3 S ed WifeilT =4 Tl fddbeu 5|

Options :
1. % 9d

2. % g
3. % Ybhy
4.« dI]

Question Number : 178 Question Id : 9277591529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed gy &, IR i edl § 9, 39 9t &1 I8 &Y o Tad TWifell] U Tl fashed g |

Options :
1. % 9Iq

2. % Tig
3. % by
4. % dI]

Question Number : 179 Question Id : 9277591530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed gy o, IR fawed! o 9, 39 [dded &1 997 &< ol Y¢d Sgao- Wsg o1 Jad 3731 [ddhed 3|
Options :

1. ® gt

2. % Yq

3. ¥ b

4. % U]

Question Number : 179 Question Id : 9277591530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! o 9, 39 fdded &1 997 &< ol Yed dgao- Wsg o1 Jad 3731 [ddbed 3|
Options :

1. ® gt

2. % Yq

3. ¥ b

4. % U]

Question Number : 180 Question Id : 9277591531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁ@?rl:r%rﬁ,awﬁﬁlﬁﬁ@r,wﬁmwmqw B Ol HIFF A 3T T et & AR ALH YN arId Fa-TH &I Ja 35T [ddhed
|

Options :
1. % (&) gH S|
2. ¢ (31T0) BHR T8T Hd 37 T 52

3. % (3Y) $© Td He]|
4. % (J8) P B OR ST YT

Question Number : 180 Question Id : 9277591531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wu&rﬁ,mﬁﬁﬁ@r,wﬁwwmwﬂ H Ol HIFF A AT T et & AR AHH YN aIe Fa-TH &1 Ja 3151 [ddhed
|

Options :
1. % () gE S|
2. ¢ (31T0) BHR T8T Hd 37 aTd 82

3. % (3¥) FB Hd He]
4, % (J8) Hd B O ST T




General Hindi2

Group Number : 10
Group Id : 92775930
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 92775930
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 92775935
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277591532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed gy &, IR fadedl # 9, 39 fddbed &1 98 DX oif U T 9T & DIl b1 gl [dhed Bl
a8 MU dl A off oS |

Options :

1. % JYTT 9dHqMRTA



2. ¥ §doq He HidhTd
3. % gAY Hidged

4. % 3 HdhTel

Question Number : 181 Question Id : 9277591532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered gy &, IR fadedl # 9, 39 fadbed &1 9 &< it I T a1 & DIl &1 ol [ddved gl
ag e ar & off eS|

Options :

1. % YYTH qaHHDbTd

2. ¥ Bdoq He HidShTd

3. % G HidwehTd

4. % I YIBTA

Question Number : 182 Question Id : 9277591533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § 9, 39 faswey &1 999 &3 Sl foU T8 areg & forw gy & Y &1 9ad o1 fased ]
THT & AT g 3 T SR &N

Options :

1. % Topard

2. % Hegrd

3. ¢ UGS

4. % fgegd

Question Number : 182 Question Id : 9277591533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed Uy & aR fawed § 9, 39 fadmed &1 98 &< off fU T8 a1 & forg 3 & N &1 9a 33T faded g |
THT § TS g 3 H S &



Options :

1. % dpard
2. % Fagrd
3. ¢ QYT
4. % faegd

Question Number : 183 Question Id : 9277591534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy &, IR eedl 7 9, 39 9t o1 I8 &% ot feT 7T 9/ & ol ual & Ve 1 9ad 331 faheu g |
IR) dEB GhHUT g¢al off T6T 3!
Options :

1. % radiy®
2. % gdrds
3. ¢ Tfdeds
4. % RYYdH

Question Number : 183 Question Id : 9277591534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad uy 7, IR e & T, 39 fahed &1 79 B ol feU 77T 919 & ol Uel & U o1 Jad 331 f[abeu 5|
IRI RB ThHUT &l I 38T 8!
Options :

1. % gradiys®
2. % fgdEds
3. ¢ Tfaede
4. % IRYYdH

Question Number : 184 Question Id : 9277591535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFafcRed Uy |, IR fadweul 7 ¥, 39 fdwed &1 999 &3 o1l el d1ad He &l f[ddbed gl
R A e g1 fobar |

Options :

1. % oy are

2. % ggad I

3. % FYYyarE® gt
4. ¥ WA AR

Question Number : 184 Question Id : 9277591535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfered Uy o, IR fadedl # 9, 39 fddbed &1 98 & ol G5! d1e HG &1 fddbed gl
Rl = e g o |

Options :

1. % fy g

2. % Igod aIR

3. % FYyaE® g
4. ¢ T dIR

Question Number : 185 Question Id : 9277591536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed gy d, IR faded! # 9, 39 [dded &1 99 &< ol el aled e B fadbed gl
oI 9] AR T AN & IR IR 18] BT

Options :

1. ¢ Agad a1

2. % oy 9|

3. % Hdgdrdd dre

4. % I 91

Question Number : 185 Question Id : 9277591536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR e el & 9, 39 fddhed &1 99 B3 Sl Ut a1 g $T [ddbed 51|
oI 9] AR T AN & IR IR 18] BT

Options :

1. ¢ Agad a1

2. % g ar

3. % Hdgdrdd dre

4. % I 91

Question Number : 186 Question Id : 9277591537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fawedi & T, 3T faswey &1 w9 &3 S Tg! 919 He &1 fddbed gl
gfe Hrf @ HRM oI, Set R A

Options :

1. % fqYTardes a1

2. % I qI

3. ¢ iy g

4. % ggad I

Question Number : 186 Question Id : 9277591537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadwedl 7 ¥, 39 fdwed &1 999 &3 oIl el d1ad He &l f[dbed gl
gfe Sl e BRI oI, Sect R A

Options :

1. % [qYTardes drag
2. % IR IR

3. ¢ Oy arey

4. % Hgad AT




Question Number : 187 Question Id : 9277591538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , aR fowedl § 9, 39 fawey &1 999 &3 o Y a1 &1 Ted 33T fadhed g |
Options :

1. % 93 Adhy vt g1 fgafeard ¥

2. ¥ 3o S 4 ot 78T feafarand 3|

3. % 33 dia 9 o a1 fgafdrara o1 |

4. % JYS A R Y off 7 feaferama

Question Number : 187 Question Id : 9277591538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue §, TR fawet § 9, 39 fawey &1 70 &L Sl Y 91 T Ja 3737 fadheu 3|
Options :

1. % d o araexy Ht T8l fgafeand 3

2. ¢ 3G dia- ¥ Ui 781 fgafand o |

3. % 9 S aie Y i g fgaichard o

4. % 3PS A R Y off 7 feaferana

Question Number : 188 Question Id : 9277591539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy O, aR fawedl & O, 39 fdewed &1 99+ &< Sl fav1 fag god a1 &1 dal fadheu gl
Options :

1. ¥ URA WBR A 35 T4 3R TIIYIOT 4T g

2. % YRA WBR 7, 38 g4 3R "TTE0T I a8

3. % YRd WPR, 7 37 T4 3R TN I TaTol 82

4. % YR WHR A I8 T2t 3R T14Wr § FaTeT §



Question Number : 188 Question Id : 9277591539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 faswed &1 o+ &< SN faR1 forg god a1 &1 et fdded gl |
Options :

1. ¢ YRJ PR 7 35 Tt 3R T F 7ol g

2. % YRA WBR , 3 T 3R TIYE0T F TaTeT 8!

3. % YR WPR, 7 3= TEre 3R YY1 § TaTeT g2

4. % YR WPHR A 35 Tt 3R TeT4N01 § TaTeT §

Question Number : 189 Question Id : 9277591540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy ¥, IR fowedl T 9, 39 fdeed &1 9a= & off [aR1 FUg gad a1 &1 dal fabed |
Options :

1. % 3frafl, g9 Wi Tel! Gd T S, b = gl

2. ¢ 37131 g9 W T, Jd Tl 31U iU = Bl

3. % 3137 "gH HI Tl G Holl ST U o gl

4. % 31311 g7 Y Tcl gF HOl T U - Bl

Question Number : 189 Question Id : 9277591540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad us o, TR fasedl # 9, I fddhed &1 9= B Sl fav g god a1 &1 Hal fddbed gl
Options :

1. % 373, g9 ol =l W& TSl 3T, S A Hal

2.+ 3131 g9 Y Tl qd TSl AT b A Hal

3. % 3773 gy Ut 9ol g Hel ! S - HEl"

4, % 313 g9 Wt Tl Gd TS ST &1Ueh - gl

Question Number : 190 Question Id : 9277591541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g uy & IR fawe # 9, 39 fawey &1 7 3% off fau U erer o1 98t o aran fawe g
T T Hd B -

Options :

1. % 99 R I Y gHT
2. % PRI AR &

3. ¢ §gd Il

4. % YHR Sfia fadm

Question Number : 190 Question Id : 9277591541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiea oy & o fawe # 9, 39 fadmed &1 7 &3 off U 7T eTer &1 et o arar fawey 2|
Ut &1 | B -

Options :

1. % & 3R I 1Y BT
2. % fRITHR AT

3. ¥ 9gd I

4. % §HR Sig- foaam

Question Number : 191 Question Id : 9277591542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed vy o, 9R fawed! # 9, 39 fadbed &1 99+ &< S f3U 70 goTar &1 Jet o1 arell fadbed 5|
Toa1 91 o -

Options :

1. % U Ua

2. % BRI ST

3. ¢ HRTAH PR TehH]

4, % GU DI TG HRAT




Question Number : 191 Question Id : 9277591542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad vy &, IR fawed § 9, 39 faded &1 Tg9 o3 S 3T U gerak &1 9et 3 aran fawed 2|
ool ST faam T -

Options :

1. % Ui Us

2. % BIN3S ST

3. ¢ BRI A GHR dgHTHI

4. % G DI TG HAT

Question Number : 192 Question Id : 9277591543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed Uy & IR fawedl § 9, 39 fadmed &1 98 &1 off [T T ggTar &1 Te! o arar fawed g
RR T8 o1 g -

Options :

1. % fagig &

2. % g HIY 3T

3. % Tiad I NaT gedl

4. ¥ HTH Y& BId o ST 37T

Question Number : 192 Question Id : 9277591543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawet § 9, 39 fawey &1 7o &3 S fou 78 eTar &1 Iet o aran fawea 7
Options :

1. % fagig o

2. % g gAY 3T




3. % gdlad 9§ UlaT ge
4.« DT Y= BId o1 ST AT

Question Number : 193 Question Id : 9277591544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawenl § 9, 39 fadhey &1 T B S €t 718 Adifad o1 Tet 3 arer fasea g |
B & FferdT, UhTs R Bl 7T aferd] -

Options :

1. % B A R PO JHIAT

2. % 3 B B URUTH 391 81 gl &

3. % 3R D B Hd W Aaad Tol

4.« B fars

Question Number : 193 Question Id : 9277591544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fowedl & T, I fawey &1 999 &3 ©il < 718 didifad &1 et o aren fawea 3|
HRH & ST, UDTS TR B TS Gferd -

Options :

1. % $B D R HO A

2. % 37 BT T URUITH =91 81 gidl &

3. % 3R D B $d H qaad ol

4. ¢ ST TS

Question Number : 194 Question Id : 9277591545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR Reedl 7 9, 39 9w cd &1 987 & oY < 715 Aibifad &1 Tat 31 arel faweu g1
YR AT IR, g I fheR -
Options :




1. % 3GHT BRI

2. ¢ 3 fqufy 31 ST
3. % Uqg ot R T g
4. % 3 Il

Question Number : 194 Question Id : 9277591545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fowedl & T, 39 faswed &1 999 &3 Sl < 718 didiiad &1 et o aren fawea 3|
SR AT IR, g Il fber -

Options :

1. % 3Ha B

2. ¢ A fawhy 3 g

3. % ddg ! Ry d g

4. % 3d AT

Question Number : 195 Question Id : 9277591546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR Reedl 7 9, 39 9w &1 987 &3 oY <t 715 Aibifad &1 Tat 31 arett fawbeu g1
31ETS BT B Hahal, A T HT Il -

Options :

1. ¢ 3gHl &1

2. % 3Tt ISTS 3T HRA]

3. % 30 gRI fhT T HH BT el HIH
4. % 30 @ o fore g &1 81 Tl

Question Number : 195 Question Id : 9277591546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR fowedl & T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 31 arar ey g



31QTS BTY B HbSY, T Y BT Sl -
Options :

1. ¢ 38 a1

2. % Ut ISTS 3ATT HRA]

3. % 30U gRI T Tt &1 B U
4. % 30 W1 o fore ¥R &1 g1 et

Sub-Section Number : 2
Sub-Section Id : 92775936
Question Shuffling Allowed : Yes

Question Id : 9277591547 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

3 fou T e o 91 5 Uy U TR § | 39 IR @l ATHYad Ug 3R dR fawedl § ¥ Udd Uy &1 9araH SR I |

SIRHaR ANl &1 Tt 1B Bl © b 376 U=+ o folt i HTeid d ATeH o1 et UTY, =181 ot 3Tl d BT 31 g SR STt oft T
g T 8, ST STe SR R & 31t 811 & 3ok § e 1 b g 3] ST ool & fop v Tame aimush o Aivie € S @
BT BT 3R 3 e dgR Bidl S| FSab 30 €6 BIdll &, d Wihd Fmet # Hf d9y el &R uld 8| TR el &
BOIR 00 H 37 B: SRl b 1Y SIR B YRS B 3R TS FHIRTY ST b & B Th S UH! o) BRIel oo, Ugel 30 a1d
B1Y I FRImaTel #%d 3, IR 3161 a8 814 U faehie H =a T fhr Ig1A S+ a8 81 ¥ Ba3MTd &1 3R 1948 1950 H faflie
ol Uereh 310 14 o) fopaft gearoR A +1eY g =Ry T8 3 SwIofR 311 I8 =Id € b & 3104 71g7 1 U1 o forw gt kg Uferais
eI | STfeIe gH 31U STERITad B! Holgd R SIC ST 81T ISR B, Al HRd X S|

Sub questions

Question Number : 196 Question Id : 9277591548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT o SFIER 3P [AHN 7 HR U &1 T HRUT g2
Options :

1. % QNN & I8 bl Bl

2. % SIS & HRU]

3. ¥ TR TR @ WeT &1 Bt

4, ® gATaRUI H dCANd & HRUI




Question Number : 197 Question Id : 9277591549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE P AR DI HH e H Ht 3T U= &R U H Gem gl g 2
Options :

1. % yfded gRkfyfd ar

2. % AP Afad

3. % % UM 331 U 8

4. ¢ T9IEd 3¢ dTd

Question Number : 198 Question Id : 9277591550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S=IOIR BT Al A XG AT HYF BT AT HT 52
Options :

1. % Tt 3 & fore & g it §
2. ¢ U 3T d 81 &1 Uit dxT o §
3. % Yeflar Seg g1 gHTw gl

4. % Y& HIA1 31 el

Question Number : 199 Question Id : 9277591551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
$TH A B - 1 Ul BT yAgar T8l 62
Options :

1. ¢ g

2. % (dfAd

3. % yfdsifed

4. % QYT

Question Number : 200 Question Id : 9277591552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 3(I0C BT DIg IUGHI L.
Options :

1. % g AR

2. ¢ Tol§d ¢

3. % QIATARUI &1 SHATTHd

4, % Joddl gq1g

Question Id : 9277591547 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

T fou T MR % 91 5 Uy AU TR €| S TR ) eYd e U R IR fadmed! H U TS Uy &1 Harad SR g |

3B R N ) Te} Rrbrad i & o I uun & forg 9dies AreYd 9 Tare -Te) e Ty, 78T ot 3111 3 B1osT S B 34 3Tt +ff A&
H3 AT &, S AT R FRURTEN & 3% d 8 & SoR H Ge $1 A gU 8| ST TRest § T fora Tme Suds U Hislg & S 9
BT PIIT 3R M T SR Bidl S| oo 3¢ €6 Bid 5, d Wihd daredt # Hi d9y e &R uld 8| TR™uAf 3 Heel &8
TR T H 3107 B: Gl & 1Y DIRIY D1 YT B 3R TSl SHIRTY S b &7 1 U Fo U o] DRI o, Ugal (U q
g1y I FARmaTell #%d 4, IR 31T 98 814 U fawhie § =al 7| fhr I81A S+ &8 81 ¥ YB3M1d &1 3R 1948 T 1950 H SNaflis
@l Uae 31U A foba| fobddl SioiR & 981 Tg1 A1y U8 H S<IeiR 31 98 GRMid1 & b §H 31U 71ed 1 UM & fore gt g vfdes
T2t 3 Safeie gH Srut SeSRIfad P! HoTgd PR SIE ST 81| ISR B, Al HRd I S|

Sub questions

Question Number : 196 Question Id : 9277591548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AN & SR 31 fAHRT 1 B UM BT FT HRUT g2
Options :

1. % AN &b IHTE B! D]

2. % SRIAT & HRU

3.  TEI A8 d Tyl Bl HHI

4. % GATARUI H JG1d b HRU]




Question Number : 197 Question Id : 9277591549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG P ITIR B HH Iqreq § off 3rdT UeH HR UM & Gem glar g 2
Options :

1. % gfdgpd gRIRRUf ardd

2. % U ofcd

3. % oM UM ores] U Bl

4. ¥ U9qd ¢ dTal

Question Number : 198 Question Id : 9277591550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR BT Al PR X S HYF BT Al 1 67
Options :

1. % Tlie oA o forg & g1 Smaxas §
2. ¢ UMY a8 &1 Uclen a1 Y §
3. % TICiieM STeg of JHET gHN

4. % Tcieq BT Sib g

Question Number : 199 Question Id : 9277591551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 9 DI - 91 Ufies &1 Jargar Tol 62
Options :

1. ¥ Ww5q

2. % (dfAd

3. % yfdsifed

4. ® FYUTGSA

Question Number : 200 Question Id : 9277591552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3 RGP Dlg IUGad -
Options :

1. * e AR

2. ¢ Oogd Rq

3. ® QIATERU 1 SHAGIHA

4, ® Joddl IHg




